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— MULTIPLYING

On this page you will learn:

o to multiply and divide whote numbers by 10,

Examples

x10 digits move 1 place to the left
=x100  digits move 2 places to the left
%1000 digits move 3 places to the left
+10 digits move 1 place to the right
+100  digits move 2 places to the right
+1000 digits move 3 places to the right

e to multiply and divide decimals by 10.

Examples
The same rules apply.

G BY 10;

100 and 1000.

134 x 10 = 1340
134 x 100 =13400
134 x 1000 = 134000
27000 +10 = 2700
27000 +100 =270

57 000 <1000 = 27

16 42 x 1000

sl

x10 digits move 1 place to the left 17 x10=17 B8 R dDi== 5:0
+10 digits move 1 place to the right 13+10 =13 2:0+10 =022
A {ch
Multiply by 10. Divide by 10. Write the answers only. | Copy and complete.
‘1. 38 (7 7000 1 1427 x 10 1 [(1x10 =60
2 174 8 820 B e i R 2:L)+10=20 g
, 3 56400 +10 73 []x100=3040
3 200 ‘9. 35000 . b 2 900 4
4 280000 <1000 4 []+100=2540
4 1368 10 700000 ;
s 1308 x 100 . 5. [1x1000 = 21000
5 4520 11 2050 6 14 x10 ’5 []+1000 = 500
6 12000 12 24360 7 12.0+10 :Z {1 x 100 = 51000
8 164000 <100 I8 [J+-10=75
Multiply by 100.  Divide by 100 9 310 x 100 -
. 0 ; _
13 400 19 1900 5.6 54 Al
o 10 2-6 =10 E1o {]J+100 =32
14 20 38000 11 07 x10 §;11 [1x 100 = 62
16 1200 22 75600 13 327180 +10 EB [(]x10 =01
R ree
17 3000 23 2000000 13 =522 %10 114 [[]+1000 = 1291
15 56000 =- 100 15 -
#h 10000 % $0666 Eil‘ [ ]x 1000 = 1480000

{]+10 =005



ROUNDING : 3

On this page you will learn to round numbers to the nearest whole one or to
the nearest multiple of 10 and to use rounding to approximate calculations.

Examples

to the nearest 1 197 -39 —-20 -4 —5

to the nearest 10 329 + 264 — 330 + 260 — 590
to the nearest 100 638 — 600, 2351 — 2400

to the nearest 1000 4835 — 5000, 13294 — 13000

A Round each of these numbers to the nearest:

Qo Q0% 00 ao 100 1000
1) 288 5 743 9 4630 13 3799 17 4150 21 11426
&y &l 6 3450 10 7373 14 2 18 5838 22 549
i 7 1365 11 12517 15 485 19 921 23 7802
4 365 8 26 12 5995 16 1843 20 2094 24 19287
Round these football crowds: Approximate by rounding to the nearest:

a) to the nearest 1000.

b) to the nearest 100. ' @0_[@

1 Arsenal 38 0S1 9 248 4373 17 65++73
2 Chelsea 34 646 10 542 + 267 18 182 + 67
3 Lleeds 39837 11 638 — 294 19 20-8 — 6-3
4 Liverpool 44718 12 762 — 357 20 432 —-17-8
5 Manchester Utd. 67581 13 68 x5 21 69 x 31

6 Newcastle 51625 14 79 x 9 22 146 x5-1
7 Sunderland 45 078 15 158 =4 22 12-4 =21
8 Tottenham 34 453 16 317 =8 24 41-6 - 69

Fe

. Estimate each of the following. Give your answer to the nearest 10, 100, 1000, 10,000,
100 000 or 1000 000. Explain how you made each estimate.

'\;'1 pages in an encyclopaedia 7 words in the Bible

t2 people in the United Kingdom 8 children in a Secondary School
(,3 children in your school 9 the capacity of a bath in millilitres
?'4 the distance to Rome in metres 10 2an adult’'s weight th grams

i\ 5 days you have lived 11 the length of the Thames in miles
Lé people on a full bus 12 miles to Australia



_II stify estimates. I

On this page yo

A

Estimate the numbers shown
by the arrows.

1

100 | ! 200
2c{oj | 300
o | | %
A S
9 4 | 7

This bar line graph shows
the percentage mark
achieved by children in a
test.

Allan —
Brettip———————
Colin p——
Dylan
Eddie
Frank f———

Allan got 100%.

a} Who got 50%?

b) Who got twice as
many as Colin?

¢} Who got half as many
as Brett?

d) Estimate the mark
achieved by each of
the five boys.

I3
D
Estimate the n
shown by the arrows.

1

2

3

u will learn to make and Ju

umbers

BOMOO

l 10000

six friends ordered
pizzas. When they had
finished eating, their
piz2as looked like this:

@y QY

Estelle wendy  Jenny
Gill Judy Sharon

who had eaten:

a) twice as much as
Giliz

b) five times as much
as Judy?

¢) half as much as
Sharon?

Estimate the proportion
of each pizza which had
been eaten as a
percentage.

e

Estimate the numbers
shown by the arrows.

1

g 2

5000 Vo 10000

—O
—
-——

n

= L
s 4 1 s
e S

Estimate the number of
words in your reading
book. Explain your
method.

Use your method to
estimate the number of
words in:

a) a picture book

b) a dictionary

c) an encyclopaedia.

Estimate the number of
times someone blinks in
a day.

Explain your method.



ODD AND EVEN NUMBERS

On this page you will learn to reco

examples that mateh general statements about odd or even humbers.
—r o T TR ;

ghise odd and even numbers and to aive

An even number is g number

which can be divided exactly by 2.
An odd number cannot be div o

ided by 2 without leaving a remainder.

Examples
34 -2 =17 34 is an even number.
8 35 =2 =17 remainder 1 35 i1s an odd humber.
A

Give three examples for eace

h of the following questions.-
Is the answer odd or even:

1 if you subtract an odd humber from an even number?
2 if you subtract an odd number from an odd numbey?
3 if you subtract an even number from an even number?
4 if you subtract an even humber from an odd number?

Use each set of digits to make six 3-digit numbers.
For each question state how many of your numbers are odd and how many are even.

1 E@&7d 2 G1D 3 @63 + @29

Give four examples for each of the following questions.
5 Is the product add or even:

a) if you multiply two even numbers?
b) if you multiply two odd numbers?
¢) if you multiply an odd number and an even number?

e

| Use these digits. } 1 ‘ 5 ! l %5 I [3:1
[ 1 Listall the four-digit odd num_bers you can make.
;}72 List all the four-digit even numbers you can make.

Copy and complete these rules by writing ‘odd’ or ‘even’ in the box.
}f 3 If you multiply three even numbers the answer is always" f

4 If you multiply three odd humbers the answer is always E- J

~ 5 if you multiply two odd numbers and one even number the answer is aiwaysl !

'r'_6 If you multiply two even numbers and one odd number the answer is always [ ——J_

" 7 Give four examples for each of the rules.
I ZXER



= NEGATIVE NUMBERS

On these pages you will learn to recognise and order negative numbers,

H-
wA
- T gaT o
Negf;;;"w':‘;:';be“ Positive numbers - Py
Have a minus sign above zero 2 ”"’-, Tl
~10 =9 -8 =7 ~6 -5 -4 -3 =2 -1 0 1 2 ¥ 4 & & 7 8 9 10
| DN, S LT | =1 i | 1 _12 i | d_ | | S | | A L L J

We often use negative numbers in the context of temperature.

Example
The temperature is 6°C. It falls 8°C.
What i1s the new temperature?
Answer —2°C.
A

Copy and complete by writing the missing numbers in the boxes

D -7 J135 s 64 1[1[] -4 -6

21074101010 8 C1CI =4 —2 —5 -7
2 -13 —10 7 () [J(]5 93010
4 -10 -6 [J{][]10 14 8 73 -13

Put these numbers in order, smallest first.

9 -8 0 3
6 =t g =10 = & n 5% P 12
-3 4 8 2 4
took at the scale.

13 What temperatures are shown by the letters? oc

14 Which letter shows the coldest temperature? 2
15 Give the difference in temperature between: ““Fuwo
a) AandB b) AandC ¢} Band C.
16 What would the temperature be: A— °
a) if it was at A and fell 13°C? —-10
b) if it was at B and rose 19°C? .
-20

¢) if it was at C and fell 15°C?

17 The temperature is —5°C and it rises by 10°C.
What is the new temperature?

18 The temperature is 3°C and it falls by 10°C.
What ts the new temperature?
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1 What temperatures are shown by the letters?
2 Grve the difference in temperature between:

a) Cand D ¢) CandE
b) Band ¢ d) B and D.
3 What would the temperature be if it was:
a) at A and rose 24°C? ¢) at C and fell 36°C?
b) at D and fell 18°C? d) at B and rose 36°C?

Copy and complete the tables showing changes in temperature.

4 | OLD | CHANGE [NEw| 5 [OLD| CHANGE [NEw | 6 [OLD | CHANGE | NEW
57¢] -=9°C |-4°c —6°C +8°C ¢ 9°C ~4°C
—-3°C] +10°C —-6°c | —2°C 138 —-11°c
—19°C} +13°c +4°%¢ |=13%¢ 4°c —5°C
9°Cl —15°C —8°c | —4°C —5°C 9°C
—1°c  +8°C - 4+20°C | 12°C —-3°C -16°C
13°C| -16°C —-12°¢ |-17°C 6°C —4°C

i@
Copy and complete the table showing the Copy and complete this table showing the goal
average temperatures recorded in January difference of the top and bottom six football teams

and July at places in different countries. in the 1999-2000 Premiership.

*‘ 1 Country | january | july Range 2 Team Goals Goals Goal
[ USA. -7°C | 26°C 33°C N | for against | difference
‘ Greenland | —35"C | —1°C Man. Utd 97 4s
’ Germany -2°C | 18C Arsenal 73 43
Japan —-9°C | 21'¢ Leeds 58 +15
Switzerland —-6C | 11°¢ Liverpool 51 +21
Iran ~3*C 40°C Chelsea 34 +19
China -19°C 42'C Aston Villa 35 +11
Poland ~57C 20°C : : 3 :
Norway -14°C 23°C : : ¢
Korea -22°C 42°C Southampton 45 62
Romama 24°C 29°¢C Derby 44 57
Russia 18°¢C 58°C Bradford 38 -30
Canada 207C 39°C Wimbledon 46 -28
Sweden | 16°C | 20°C Sheff. wed. 70 -3
o Watford 7 42
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UMBER SEQUENCEs

On this page you will learn to extend humber sequences.

To find the rule that links the numbers study the gaps.
Examples
4 0 —4 -8 =12  The rule is ‘subtract 4.’
3 6 12 24 48  The rule is ‘multiply by 2". .
The rule is ‘add one more each time’.
¥ 3 6 10 15 e rule ]
A

Write the first six numbers in each sequence.

! RU(E‘ [Startrat I | Rule Start at_] Rule
0-6

210 —4

1 é +0-1 11 0-01 +0-02
2 65 +4 7 201 +101 12 35 —0-5
3 62 s 8 47 +9 13 76 -1
4 60 +5 9 425 -50 14 125 +0-25
5 -1 =1 10 -3 ~3 15 18 -
Complete these sequences by filling in the boxes. Write down the rule each time.

1 -4 3-2 1010310 9 Ns[Ji1o1[]87[]73

2 12243648101 10 100 [] 81 [ ] 66 [ ] 55

3 [JOJ] 64 70 76 82 n[]-5[]4710

4 (1{][]109 111315 12 []4[][]25 36 49

5 1938 [} 1{]114 133 13 100 -5 -8 -1 =14

6 009 018 [J[ ][] 054 0.63 14 2 4 []16 [] 64 []

7 -33 -23 -13 =311 15 290 [] 170 (][] 65 50

8 []42 63 []105 126 [ ] 16 13 []21[][]33 37

R |
)
R
o

Copy these sequences and write the next three numbers. Write down the rule each time.

K1 -8 —6 —4 —2 7 11 30 49 68 13 1.0 075 05 025
2 21426384 8 151173 14 154 132 110 88
¥'3" 25 20 15 10 9 100 82 64 46 15 3.0 225 1.5 0.75
4 15 2.0 30 45 10 49 64 81 100 18, —21 15 =40 ~&
EEY g5 a1 <7 =3 11 124 99 74 49 17 50 99 148 197
6 10-0 10-1 10-3 106 12 005 01 015 02 18 03 0-41 0-53 0-66



MULTIPLES

On this page you will learn to recognise multiples.

Multiples are the numbers in 3 multiplication table.

Example

;hz r;ultuples of 3 are the numbers in the 3 times table.
¢ 6,9,12,15,18 ... 48, 51, 54, 57, 60 .. . 150, 153, 156, 159 and so on.

A

Write the first six multiples
of each of these humbers.

(1 3 4 25
2 7 5 12
£3: 9 6 20

Write Yes or No.
7 s 48 a multiple of 67

‘8 Is 54 a multiple of 72
79 15120 a multiple of 87
Is 74 a multiple of 97
Is 77 a multiple of 117

KBS

Is 180 a multiple of 182

13 Is 80 a multiple of 122
14 Is 300 a multiple of 157
15 Is 450 a multiple of 50?7
16 Is 93 a multiple of 62
17 Is 81 a multiple of 9?
18 Is 155 a multiple of 25?2

19 Is 98 a multiple of 112
20 Is 140 a multiple of 20?
Is 63 a multiple of 7?

ls 31 a multiple of 132
Is 60 a multiple of 122

R

Is 98 a multiple of 8?

Which number should not

be in the box?

1 | Muttiples of 8
120, 64, 36, 48

2 | Multiptes of 6
46, 24, 84, 54

3 | Multiples of 7
(84, 21, 56, 48

4 | Multiples of 30
150, 90, 230, 60

Multiples of 11
110, 122, 99, 143

:

6 | Multiples of 9
64, 108, 81, 45

Look at the numbers in
the ring. Write down the
numbers which are

multiples of:
7 4 2 9
8 6 10 10

24. 60 36 48 180
54 30 32 40 27

FC
The lowest common multiple of
two or more numbers 1s the
smallest number that can be

| divided exactly by each of them.

Examples
The lowest common multiple of
2 and 5 is 10.
" The lowest common multiple of
10 and 12 is 60.
The lowest common multiple of
2,5 and 6 1s 30.

| Find the lowest common

! multiple of each of these pairs
i or groups of numbers.

€1 2and3 13 2,5 and 10

T —
S e S

~

2 3and4 14 2,7and21
'3 4and5 15 4,10 and 25

:f.-
ff
Y4 3and5 16 2,3and4
‘.
{5 6and8 17 3,4and5S
r;-
6 4and10 18 4,8and12
f7 2and7 19 2,33and5
|
'8 10and6 20 4,5and6
"9 8and4 21 3,4 and10

110 4and6 22 3,4and6
11 5and9 23 3, 4and9
112 10and8 24 2,5and7

htemen



10

10

A

Decide if each number is divisible by the number in th
9 132

10 46

11 508

12 222

1
2
3
4

Whole numbers are divisible by:

O if the last 2 digits are 0O.
if the last digit is even.

© W N

100

400 5 43
80 6 90
940 7 285
6000 8 178

if the sum of the digits is divisible by 3.
if the number is even and divisible by 3.
if the sum of the digits is divisible by 9. 25

10

On this page you will learn to use tests of d

if the last digit 1s O.
5 if the last digit is O or 5.

4 ifthe last2 digits are divisible by 4.

g if the last3 digits are divisible by 8.

if the last 2 digits are 00, 25, 50 ¢ 5

DIVISIBIUTY TE
wisibility.

STS

e box. Write Yes or No.

13 154 17 500
14 160 18 25
15 375 19 64
16 82 20 230

Write True or False for each of the following statements.

1

N & W N

Copy and complete the table, using ticks and crosses to show divisi

{

353 is divisible by 3. 6
48 1s divisible by 4.

1458 is divisible by 9. 8
158 1s divisible by 6. 9

1900 is divisible by 25. 10 376 is divisible by 4.

1056 is divisible by 8.
7 1763 is divisible by 9.
885 is divisible by 3.

11 474 is divisible by ¢
12 2148 is divisible by g,
13 875 is divisible by 25,

9255 is divisible by 25. 14 182 is divisible by 4.

15 798 is divisible by 3,

bility.

[ NUMBER

DIVISIBLE BY ;

314

5

6

819110125

336

740

675

2952

825

6210

1336

2700




PRIME NUMBERS

; 1
On this page you will learn to recognise prime numbers.

A pri i o

onz”me number is a number which is divisible by only two different numbers: by itself and by

The first four prime numbers are 2, 3
4,6, 8,9 and 10 are not
four prime numbers.

> and 7. Notice that 1 is not a prime humber.
Prime numbers because they are divisible by at least one of the first

To find [ -digi ‘ i '
out if a two digit number is a prime number you need to work out if it ts divistble by one
of the first four prime numbers, 2, 3, 5 and 7.

Examples

28 is divisible by 7.

29 1s not divisible by 2, 3, 5 or 7.
30 is divisible by 2, 3 and 5.

31 is not divisible by 2, 3, 5 or 7.

28 is not a prime number.
29 I1s a prime number.
30 I1s not a prime humber,
31 is a prime humber.

A_ "@
Write down the prime number  Write down the two In the questions tn this
in each group. numbers tn each group section you may need to
17809 which are not prime work out If a number is
2 16,17,18 numbers. divistble by prime numbers
3% 2122, 23 11 11 21 31 othgr than 2, 3, 5 and 7.
4 20,3132 121 is not a pn‘mve_number
2 40 41 42 43 because it is divisible by 11.
5 47,48, 49
6 57,58, 59 3 33 43 53 63 E"?“‘P“;
7. 66, 67, 68 :r)\;hr:;he:)szthese are prime
4 47 57 67 77 -
g% 73. 7675 §1 103 5 133
9 Find all the prime 5 51 61 71 81 S 1 6 139
numbers below 50. There ' _
are 15. (Remember, 1 is 6 67 77 8 97 3. 16 7 153
not a prime number.) Write down the next prime 4 127 8 181
10 Find the next prime Hiiihsr ot _ )
wuinbar gty 37. + 90 5 50 Explain why the following
are not prime numbers.
9 74 13 143
8 45 10 75
10 87 14 169
11 Find all the prime ‘11 e 15 187

numbers below 100.
There are 25. 12 115 16 289




— PRIME FACTORS

ctors and use them for

S B e fa
On this page you will learn to identify priet
finding products.

number.

her
Factors are numbers that divide exactly into anot hose P'OduCt is: the target VUL,

Ys w
1t 15 useful to think of factors as pairs of numbe

Example

; 3 4, 6, 12.
tors of 12 1, 2, 3, %
Find the factors of 12. 1x12 2x6 3x4 Fac

A factor tree for 36

A factor which is also a prime A factor tree for 63

number is a prime factor.

To find the prime factors of a

number we can use a factor 4 “

tree. 3 3 L ® 2 ?
i3 ok R 36 =2X3X2X3

Prime factors can be used to find products.

Example
s 2 = 1512
42 X36 =42 x2x3x2x3=126x2x2x3=252XxX2%3=756X

R N
A =
Find all the factors of the following Use a factor tree to find Use 3 actor tree to find
numbers. all the prime factors of: _ all the prime factors of:
1 6 5 27 1 24 5 72 £ 1 48 5 100
‘ﬁ _
2 16 6 30 2 40 6 75 %5260 6 144
3. 20 7) %2 3 4 7 88 R 7 16
4 2 8 36 a 54 g8 90 L4 84 8 256
Copy and complete as in the Break the second number  Break the second number
examplé above. down into prime factors down into prime factors
9 Bx6=13x3x2=[] to help work out: to help work out:
10 16 x 12 =16 x3%x2x2=["] 9 3Ux12 9 6lx48
11 24 x8=24x2x2x2=[] 10 14 x 25 110 53 x 42
B
12 31 x14 =31x7x2=[] 11 32 %20 11 56 x 45
1323)(15:23)(5)(3:[] 12 38 x24 S 12 65 x 56
14 25 x18 =25x2x3 x3 =[] 13 39 x 36 13 76 x 64
15 35 x9=35x3%x3=[] 14 51 x 42.

14 89 x 72.
ez



When a number is multi
They are called square

12=1 xX1=1
A
1 Complete this table
up to 122,
P=1xl=1
22=2x%x2=2
F¥=3x3=9
Work out

o, o 8 102 4 72

2

3 524 32 9% +12
4 6 +1° 10 8 452
5 52 -3 11 9% — 42
6 88 -6 12 10°—¢2
7 6—3* 13 8272
14 Hereis a5 x 5 square

divided into eight smaller
squares.

L i
i |

| |
{ i

Draw a 7 x 7 square and
design a pattern which
divides it into nine
smaller squares.

SQUARE NUMBERS -

On this page you will learn to recognise square numbers.

Work out
1 20°
2 212
3 19?
4 152

plied by itself you get g square number.
numbers because they make square patterns.

5 312
6 132
7 40°
8 100°

Use a calculator to find out
which number, when
multiplied by itself, gives a

product of:
9 729

10 196
11 1225
12 484

13 2116
14 784
15 1024
16 6889.

Find a pair of square
numbers which give a total

of:

17 13
18 40
19 125
20 74

21 73
22 181
23 97
24 113.

Find a pair of square
numbers which give a

difference of:
25 7
26 84
27 45
28 39

29 80
30 300
31 32
32 105.

‘'8 8 e @
A 9 0 0 0
n 0 " 00
© v 0

2
i

Lagrange’s Theorem

A famous mathematictan
called Lagrange proved that
every whote number could
be written as the sum of
four or fewer square
numbers.

Examples
19=16+1+14+1
35=25+9+1

47 =36+9+1+1

Make the following numbers
from four or fewer square
numbers.

1 10 9 96
L2 15 10 120
3 24 11 141
4 48 12 160
5 57 13 199
i'6 62 14 230
7 72 15 358
8 80 16 423

1 17 A sguare playground

has a perimeter of 100
metres. What is its
area’?
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| Example

Example

On these pages yot
by cancelling or by

, will fearn t
(tiplytng

put are the same.

¢ fractions are fractions that look different

EQUIVALENT FRA

o change 3 fraction to an equiva|e
ht

A fraction can be changé

CANCELLING

i

A

d to an equivalent fra

write the equivalent fractions s

b @)
M

MULTIPLYING
Example

y the shaded areas in each pair of diagrams

1

1]

7

et

==
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Copy and complete these equivalent fractions. i [
7 35 -

3 1 15 30 8 [ 8 [

10 100 5 20 7 L} 4 28 20 100
;1.0 14 o2 n 2.0 452U

4 16 6 [ 3 [ 5 25 7 4
Cancel each fraction into its simplest form,

5 8 90 14 16 9 8 25
16 — 18 — — = = 26 — 28 — 30

20 20 %0 2w s 12 12 80

6 15 10 36 28 48 30 20
17 — 19 = = =l = ¥7 — 29 — 31

14 27 — 15 & 60 = 35 100 36 32
Continue these fraction chains for five further terms.

1 2 3 E 9 7 14 21

3 6 9 B ITe 1 3 0720 30

@

| Pick out the letters above the fractions equivalent to the fraction in the brackets.

: Rearrange those letters to make a word using the clue.

; 1 (&, a food) 5 (4, a city in England)

J EICIN|(RILIA!B]|E T C|H|E|R|SID|T{LIAJE
3jef218)201214a]5 |2 [10 alz[2[8 (5 (3(20]6(i5]4
30 ) 66 | 10 | 80 100} 20 | 40 25 |90 | SO 12 | 30 g |24120(12 |44 ]| 2440 16

52 @, a fruit) 6 (2 atool)
AirlelL]ie|n[ulr]c]Rr H{D]| 1 PlL SLT1e
2leislaf2({3ln)sl25]9 15 |1ajzle|824)26(9 1202
14 | 16 j 16 | 10 4 9 | 2010 |40 | 18 4 32 6116 120164 80|24 |48 | 72

; 3 (3 a European country) 7 (2 an English county)

: AlNnjGclelT|s|[L]e[D|W N[olp|rRIeE|N]F]V]L]K
o |s|nf4ls(m({s]10[20]s | slnjzfo]lslsinislwin
|10 12 30 [ 15 | 27 |24 |15 [ 30 )] 9 16 |20 |45 |30 | 10 [ 25 50 | 35 | 35 { 55

E4 (2, a boy's name) 8 (% agirl's name)

' loinfele] it rlL]AN]Y AlplaliL]T]t[r]n]O]D
[afelilrsiojinfsaf22{y [15 2515512011015 |a0f30]s0fas]1s
[6 8 |20 [0 15 116 140130 | 12 ] 20 30 | & 26 | 12 {24 | 48 | 42 {1 60 | 35 ﬁ_

69 Now make up a similar problem of your own.
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On this page you will use your knowl
and order fractions.

Example
1 3
Arrange —, —, 2 ascending order.
5 20
Convert the fractions t d tor 1_ =X 3_ 6
s to a common denominator. S =9 5 0"
Arrange in ascending order. .8_ l =y
20 2 5
A
Which of the fractions in Arrange in ascending order.
the box are: 1 1 2 4 >
1 equal to one half? 23 12 6
s , 5 3 1 1
2 less than one half? e 8 a 2
3 greater than one half? 3 s 3 2 1 5
1 6 3 SO 9l 4. 3' 2! 6
= e = 3 1 3 1
6 10 8 100 4 15, 25 i 15
37156 > 3 .1 3
BBy 5 2= 1= 2= 1=
5 16 20 12 3 3 > 1
: 3 7
4 Match the fractions to 6 1= 2— —7—, 2—3—3—
the letters . 20 10 100
‘ ’ 7 Match the fractions to the (etters.
° °
—n L 3
- | 2 o i A
i 1 — .
10 -
| «——B .
s 4 R
= 15 -
|- «——C E :4———0
- 2 B
}—‘—'E 3 LL
. 1 — «—F
| «——F 5 :
r—<——G .5_4‘_ =
- 60 [~ ¢
g 36 e
| «——H —— £
—1 . 0 —3

5.3
20

Find the number
which is half way
between each pair

[ Y
0 N
=N oN e wIN
w R
>
o

N
o

¥
¥

e ORDERING FRACTIONS

edge of equivalent fractions to compare

3
10

of humbers.
{1 land 11
2 2 and 3
'3 1 and 3
"4 %and %
5 1% and 13
K6 1% and 13
7 21 and2%
i'g 21 and2%
Lo 1 and 3
10 % and 2

11 1% and 13
12 12 and 13
13 4% and 455
14 21 and 23
15 13 and 1%
16 % and




Examples

Change £ to a mixed number.
Divide numerator by denominator.
Put remainder over denominator.

Put sum over denominator.

Write the shaded areas as
both mixed numbers and
improper fractions.

s

? QOO®

8 B

QOO®
DOSP

©TQOOO®

IMPROPER FRACTIONS

On this page you will learn to change an improper fraction to a mixed
number and vice versa.

Change 7% to an improper fraction.
Multiply whole number by denominator.
Add the numerator.

Copy and complete.

1

2

iy

19+5=3rem. 4

7x7 =49
4942 =51

=

[
w

N

l [

O o o 0

mé%DDDEDD“WmM#DwD

I ll

I

12 518 w8 NIS o[t 1M ]
0

8|8

I

~N

i

N
wIN I [ VW W)

w

Il

E
I OO0 O~ Ol
BN .

N

4

=
(@)
Q

@

T
- 1]
3 1ol

Change to mixed numbers.

1

A n W N

off i N[y ol & wik

7 &
8 ¥
>
10 ¥
n &
2 %

Change to improper

fracttons.

i3
14
15

-16
17

18

19 5%
20 9%
21 33
2 4335
23 6%
24 122

Answer True or False.

25
26
27
28

29
130!

Ty A

O R [ ¢ ) e B
B ol S e sE S

off vl ol & R -
N

v A

— )



DECIMAL FRACTIONs

On these pages you will learn what each digit in a decimal fraction

represents.
Examples
-
T H 3
Hic =03
~1+ ]
=
10 ¥ 100
| 57 _ A
- j00 = 057
1
u 1 1 _1
10 100 1000 6 s
6 i 4
1% 6™ %o
634 _ 4.
11—-—-000 =1-634

The value of a digit depends upon its position
in a number.

Each digit is 10 times higher than the digit to
the right. This applies to decimal fractions as

wetl as to whole numbers.

TV 5 o w00
/0=70 -0

= 70
L= 0:7
ws= 0-0 7
o= ©0-0 0 7

A

Express the shaded part of each diagram as g
fraction and as a decimal fraction.

1 3

f 1
B

Write each number shown by the arrows as a
decimal fraction.

o T T hs! 11 4
Lottty bttt}
6 0.6 f T io.7 i f '[ 0.8

Lo v vy 09 e Fodowg taey ¢y

Give the value of the underlined figure in
each of these numbers.

7 16-8 11 0-0¢ a5 2.03
'8, 952 12 329 16 917
‘9) 24.76 13 5836 17 0-831
10 15.43 14 85 18 1262

Give the next five terms in each of these

sequences.
19 0-01, 0-03, 0-05, 0-:07, 0-09

20 1-01,1-02, 1-03, 1-04, 1-05
21 09, 0-92, 0-94, 0-96, 0-98

@2 1-6,1-65,17,175,1-8



i'd 100 1' 00 E’m""’[e

2 + + 100 + ]OOO
2 131;0 =2.416

Write the decimal fraction shown on each
abacus.

1 1 1
0 =5 =t it 1 1 1
1 10 100 1000 4 Y 35 105 600
3 11 1
1000 5 VU 35 156 506

il

1000 10 100 1000

LiT1]

Write these numbers as decimal fractions.

7 w5 1 9% 15 81555
8 27 12 23 16 723
9 % 1B 55 17 Siss
10 4:%5 14 3% 18 2653

Give the value of the underlined figure in
each of these numbers.

19 634 23 18196 27 36-078
20 12:85 24 1.035 28 4.34

21 6427 25 0-708 29 4222
22 158 26 15-92 30 0516

po
(&

19

Write each number shown by the arrows as

a decymal fraction.

e $ 1% 0T

1 0.7 ) oz

| l‘:;yai;; ;:";';xa:;_f
2 G I < L

‘ a |
0% |} ! 1o
FEATREYENE ATN PN EL NN

1 EN 7
10 100 1050

b3 3 7 729 1 3289
4 294 8 12 12 5
f;'s 5.9 9 6 13 03
6 803 10 0.096 14 4-999

Give the next five terms in each of these
sequences.

15 0-592, 0-593, 0-594, 0-595, 0-596

"ié 0-06, 0-065, 0-07, 0-075, 0-08
17 2.99, 2-992, 2-994, 2-996, 2-998
"18 1.02, 1.016, 1-012, 1-008, 1-004

Copy and complete.

119 1683+ 0-05={ |
/20 5134 —0-009 =] |
21 2791+ 08 = |

22 1-482 — 0-6 = D

23 3164+ 0-07 =[]
24 3261 —0.08 =[]
125 072 +[ |=0743
26 1298 —[ ] = 0.898
127 3592 +[ |=3612
128 2793 ~[ |=2788

29 0:063+[ |=0123

730 9487 —[ |=9-478



20 s ORDERING DEC|MALS
cimals.

On this page you will learn to order 3 set of de

a column.
ompare the decimals,

Write the set of decimals i a line with the decimal points In

Fill in any empty spaces with zeros. This makes it easier t0 C

Example

Write 1-41, 1-4, 1-141, 1 in ascending order.
Arrange in order.

Write in column. Put in zeros.
1-41 1-410 1
1-4 1-400 1141
1141 1141 1-4

141

1 1.000

A
Copy and complete by writing < or > in the box.
1 5-88[ ]85 & 271 1R 9 Copy the line and locate the numbers,
4-2[749 6 958198 5.0 2-03 2:05 1.95 1-.97 2.07
67 637 : . i .
3'46D4~36 7837[]873 ull]llll‘lllfLLJ_JJJi
g 531[]513

2
3
4
Arrange these decimals in ascending order.
5 Copy the line and locate the numbers,

1 6-29, 0-69, 0-609, 6-:09

2 5-227,2.257, 5-27, 2:57

3 9.123, 9-23, 0-923, 92-3

4 877, 8272,2:788, 2:87 1.9 2.0
{ g pitipasdars fpppar]

198 1-935 1-99
1-965 1-915 1.95

e
. Arrange these decimals in ascending order.
©'1 5.656, 55-65, 5:56, 5:556, 5-66

2 4.944, 4-99, 49, 4-499, 4-494

3 0-781, 1.7, 0:187, 0178, 0-71
4 2303, 0322, 2:033,2:32, 033

9 Draw a line from 0-99 to 1-01 with 20 divisions. Show these numbers on your line,

5° 2222, 2.2, 2:2, 222, 220
6 1.414,1144, 1414, 1114, 1-44
7 6606, 6-66, 6:066, 60-6, 6-06
g 177, 1.717,1177,117, 1.7

rl-OO 0-995 1-002 1-.006 0-992 1.008




ROUNDING DECIMALS ———7

3;'; ttrl"ns Page you will learn to round decimals to the nearest humber or

To round a decimal fraction to the nearest whole number look at the tenths column,
To round a decimal fraction to the hearest tenth look at the hundredths column.

If the number in that column is less than 5, round down.

If the number in that column js greater than 5, round up.

Examples
To the nearest whole number, 3.5 rounds to 4 5.49 rounds t0 5
To the nearest tenth, 2-61 rounds to 2:6 4-372 rounds to 4-4.
A {C ‘
Round to the nearest whole Round to the nearest: ' 1 Copy the table rounding
t'lu‘mber. | : the kilograms to the
{1} 104 7 17-6 1 16.48 6 1249 nearest 100 g.
2 17 8 947 2 B8.943 7 10-66 i Pounds { Kilograms
@1 75 €93 123 3 1737 8 0152 ' 1 0-454
% 423 4o 1151 4 4539 9 258 L 2 5574
‘s 825 (11 1428 5 1375 10 5873 2 =0
6 083 a2 3-61 4 1%
- 5 2-268
6 ST
Round to the nearest pound. ! 7 3175
a3 £6:70 19 £2-09 @ : 2 3.629
14 £240 20 £137 N R~ 9 4.082
@5 £550  GR E083 12 £026 17 £0-26
16 £1226 22 £344 ;
16 13 £7.53 18 £8-05 i 2 Copy the table rounding
17 £491 23 £1152 14 £3-85 19 £1634 " the litres to the nearest
Gallons Litres
1 4-546
2 9-092
3 13628
4 18184
21 8-60m 26 9:04m 5 22.730
22 228m 27 146m 6 27276
23 5-47m 28 455m / Stie |
8 36-368
0-93m 29 8-63m |
34 9 40914
25 7:52m 30 2:97m

i
13
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It is important to remember that:

1 01 _7-, =02
ﬁ =001 100 = 0-02
z
= 0.5 -}: = 0-25

A

Write True or False for each
of the following statements.
1 &2 =0.08

gagggeaqaa»wN

15
16 0-6 =5

‘17, Match each of these
fractions with one of

these decimals.

271 [os
s 0-75
4 0-05
= 03
Y 0-55

= Q-3 and so on.

T:“Z = 0:03 and so on.

Tog55 = 0-003 and so on.
= 075

Write as fractions.

1 272 s 1.05

2 0692 6 6-081
3 775 7 39

4 3427 8 5-006
Write as decimals.

9 £2: 13 4% km
10 £53 14 22 km
1 €71 15 635 cm
12 £9:% 16 1-32
Give the answer as a
decimal.
17 038+ 1
18 3 — 024
19 2+02
20 0.73 — E
21 0-6 +-2 100
22 2-06
23 Write a decimal in the

box. 22 kg of sugar is

-FRACTIONS AND DECIMA(S

On this page you will learn to recognise equivalent fractions and decimals,

FC&
Write as fractions.

1 854 7 9-001
EE‘ 3.692 8 1585
’E}m 6.06 9 4247
%;j 07 10 7-02
@5 11.025 11 2.031
Fe 125 12 19-006
- Write as decimals.

13 2% 19 £13
f1a 2L, 20 £32
fl1s 3 21 2%m
E”'s 2Z 22 1tem
(17 £ 23 #m
E9 4 24 522 km

18
;;

Write in ascending order.

t‘ 25
126

4 0144, 0-41

0-85, &, 5

% &% 027
0-408, &, 0-084
Toas: 0+49, &
0-503, 2, 053

A full box of cereal
cohtains  kg. At
breakfast 0-15 kg is

used. How much cereal

1s left in the box?

—a



Examples 1

To find what fraction one
the other.

i ,
TAKE CARE! The units of the two quantities must be the same.

Examples

What fraction of £2 i 35p7?

Answer = 35

of 420 =420 =7 5
= 60

306 = 25 because £2 — 200p.

What fraction of one metre is 25 em?

Answer = ‘12_5 —

56 = 7 because 1m = 100 em.

What fraction of one litre is 200 mlz?

Answer = 200 _

1606 = = because 1 litre = 1000 ml.

A

Find 3% of:

1 700 4 Sm
2 280 54 £2

3 1Im 6 £3
Find {3 of:

7 40 10 1m
g8 20 11 £1
9 60cm 12 €5
Find § of:

13 32 16 56m
14 72 17 40p
15 24cm 18 64p
Find 2 of:

19 32 22 36cm
20 24 23 f1
21 Im 24 60p

Find

1 2of40 7 25 of1kg
2 20of270 8 15 of3kg
3 50f600 9 £0f480¢
4 Hofsm 10 £ofll

5 msof2m 1 §of 421

6 g oflm 12 ;5 of 31

What fraction of £1 is:

13 20p 15 75p
14 5p 16 4p?
What fraction of 1 litre is:

17 79 ml 19 250 ml
18 310 ml 20 10ml?

wWhat fraction of 1 metre is:
21 5¢cm 23 60cm
22 12¢cm 24 35cm?

2
3
L4 Zof42m 10 & of 5l
5
6

21 2¢em
22 2mm

3 of 640 = (640 +-8) x5
=80 x5
= 400

quantity is of another, make a fraction by putting one quantity over

Find
g1 Z of 200 7 Zofékg
% of 120 8 L of4dkg
Z0of3600 9 L of4kg

106
Fofam M & of2l

i - c
o855 of 7m 12 2 of Sl

What fraction of £1 is:

fi13 17p 15 £0-15
14 65p 16 £0-022
What fraction of 1 litre is:
17 5ml 19 220 ml
118 125 ml 20 1ml?

What fraction of 1 metre is:
23 75cm
24 1mm?



PERCENTAGES

24
On these pages you will learn:
—_—
e to understand percentage as the number of parts in 100.
Per cent means out of 100. i 5 i
Percentages are fractions with a : ::— y
denominator of 100. e |
The symbol used for per cent is %. i~
23 small squares are shaded. mxﬁ-
The fraction shaded = 15- = : ‘E;
The percentage T

shaded = 23%.
e to recognise when percentages, decimals and fractions are equal.

To express fractions as percentages, change them to You need to know that:
=100 — 1.0 = 100%

equivalent fractions with denominators of 100. = 100

Examples 10
I | [ = -
i5 = 105 = 30% 3 =10 =750%

Lo=_1 =001=1%
. . 1060 100
To express decimals as percentages, multiply by 100. 1_ 25 _ (.25 =25%
4 — 100
Examples %- = Iso% =05 =50%
0-53=53%  02=20% 2=72 =075=75%
A
Express each shaded area as:
a) a fraction b) a decimal c) a percentage.
: H

SHaunEmna:

@ What percentage of the 20 boxes contain:
a) ticks b) crosses ¢} circles?

@ What percentage of the 20 boxes are blank?

SININIS
%[0 |%
OIN|N %
x| O %
NSNS




1 Copy and complete the taple.
Fractio = ‘ 7 : :
ecimals 03 0-04{ 0-6 | 0-5 | 0.83
Percentages | 30% | 26% | 259% | 70%
What percentage could be used in each of these sentences?
2 Fay scored 38 out of 50 in her History Test.
3 Two fifths of the children in the class have fair hair.
4 Sevenn every ten voters Supported the winning candidate.
5 Half the chocolates in the box have hard centres.
6 The football team won 12 out of the 25 matches played.
7 Two in every hundred mothers gave birth to twins.
8 Michael Owen was on target with 4 out of his 5 shots at goal.
9 Three quarters of the audience were women.
10 It rained on eleven days in every twenty,
F‘@ E ‘
Write eagh fraction as: Write each percentage as:
a) a decimal a) a fraction in its simplest form
- b) a percentage b) a decimal.
(Lo 23 5% 7% 9% nu% B 15 s
PR 4w 6 8 % 1030% 1 43% 14 60% 16 25%
17 The girls’ football team had 3 penalty competition. Copy and complete the table.
| Name | Penalties | Goals | Scored (%) | Missed (%)
Leslie 25 16
Kirsty 24 15
Megan 20 13
Stacey 30 70%
Carly 36 75%
Fay 5 40%
1 18 Use squared paper. Draw an 8 x 5 grid of 40 boxes.

&X -

a) Put ticks in 25% of the boxes.
b} Put crosses in 40% of the boex.
c) Put circles in 15% of the boxes.



26 'PERCENTAGES OF NUMBERS

On this page you will learn to find percentages of numbers.

Examples
75% of 60 = 2 of 60 30% of 40 = 75 of 40
1 of 60 =15 % of 40 =4
2 or 75% of 60 = 45 2 or30% of 40=12
A B @ 1
Work out work out I;i 1 There were 240
1 10% of 70 1 10% of 55 "' children in a school.
60% were boys. How
s 2, 30% RF180 many girls were there?
3 5% of 24 3 25% of 96 _ |
4 10% of 150 4" a0% 1 | 2 75% of the children in a
class could swim.
5 20% of 35 5 50% of 19 This was 21 children.
6 30% of 160 | How many children
7 75% of 60 6. 30% oF 140 were there in the class?
7 1% of 430 3
8 40% of 30 8 6% of éo © 3 30% of the children in
f Year 6 belonged to the
9 10% of 130 9 20% ofas ‘_ Guitar Club.
10 50% of 500 ‘ This was 12 children.
11 20% of 250 10 75% of 320 ; How many children
12 25% of 40 11 80% of 110 , were in Year 67 :
1 Lo 3 4 lan weighed 60 kg. His "
13 20% of 15 i i
. weight increased by 5%..
14 30% of 400 13 60% of 120 | What was his new i
15 40% of 50 14 90% of 150 weight?
16 75% of 120 R }h 5 A test had 80 '
17 There were 130 apples in T, 5% aF oK guestions. Amy 3
a barrel. 10% were 17 A baker made 64 cakes. correctly answered
rotten. How many apples 75% were sold. How A’ 85%. HOW many
were rotten? many cakes were (eft? questions did she not
answer correctly?
18 25% of the 240 18 There are 180 children &
passengers on a plane in a school. 30% have '@ 6 There were 300
had not flown before. milk every day. £ children at a concert.
How many passengers How many children do 45% were girls.
had flown before? not have milk? ! How many were boys?

sl



RATIO AND PROPORTION

On this paqge - . . ,
Page you will solve simple problems involving ratio and proportion

A

A department store’s loyalty ¢

a 1 . -
spent. Copy and complete the t:t(zmltles et Gustomer 0. disaonirboF ane pound in every E50

Amount spent (£s)
Discount (Es)

100 | 150 [

2 Mak l § \ 6 : 8 9 :
o A a . [ 1
& ¢ a similar table for 5 discount of £1 in every £30 spent.

Copy and complete these sent
Write both sentences for eac

ences for each of the patterns below.
h pattern.

S 5 O O 5 O O 3 LIS 171
2 & je TS

a)
b)

CI N I I O
¢ LT TR 6 (T T TR

The ratio of shaded Squares to white squares is [_] to every £

The proportion of shaded squares in the pattern is [_] (Write a fraction.)

Fl | There are nine girls to every four boys at a swimming pool.
i There are 16 boys at the pool. How many girls are there?

!2 For every five adults on a bus there are three children.

r There are 21 children on the bus. How many adults are there?
Bi%

13 400 people attend a concert. There are seven children to every
s three adults. How many children are at the concert?

.

{1 4 ' One in every thirty raffle tickets won a prize.
. There were 600 tickets sold. How many tickets won prizes?

In a test Rachel answered seven questions correctly to every five she answered wrongly.
There were 60 questions in the test. How many did she get right?

' 6 There are 36 chocolates in a box. Four in every nine have soft centres.
- How many chocolates have hard centres?

. 7 In an orchard there are 5 times as many apple trees as there are pear trees.
There are 300 trees in the orchard altogether. How many pear trees are there?

1 A jeweller mends 7 watches for every 2 he sells.
4in one month he mends 56 watches. How many does he sell?




m o
On these pages you will learn:

-PERC

ENTAGES AND:MONEY

e to find percentages of amounts of money.

Examples
90% of £6-00 = 2 of £6-00
L of £6-00 = 60p
15 Or 90% of £6-00 = £5.40

e to find percentages by halving.

Example

Find 62-5% of £500

100% of £500 = £500
50% of £500 = £250
25% of £500 = £125

12.5% of £500
62-5% of £500

£62-50

£250 4 £62-50
£312-50

A

For each of the following items in a sale, find:
a) the amount the price is reduced.
b) the new price.

tdl SUITS 5 TROUSERS 9 COATS
£100-00 £15-00 £40-00
10% OFF 209% OFF 25% OFF
2 GLOVES 6 TIES 10 [ SHiRTS
£5-00 | £3-60 £10-00
50% OFF 10% OFF 40% OFF
3 SOCKS — 7 [ TRAINERS 11 SHOES
£2:40 gw £20-00 £25-00
— e ]  I—— e — |
25% OFF &= 30% OFE 20% OFF
4 BELTS 8 HATS 12 SCARVES
£8-50 £8 £6-00
10% OFF 20% OFF 25% OFF
Work out 75% of the following amounts of money by halving.
13 £1-20 14 40p 15 £30-00 16 92p 17 £2.20 18

£68-00
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Sale price Sale price Sale price

5% Discount | 20% Discount { 30% D!SCOLH’]L

Copy and complete the table.
1 Item Price Sale price
_ | 10% Discount
7TehnilS racket £30-00 £27-00
| Tennis balls €360
Football £18-00
—
Laces _|_f120
Snooker table £240-00
Chalk 40p
Cricket b T
| C all £6:40
Stumps E8-10

Work out 12-5% of the followin

2 72p

@
. Find the

|

3 £10-00 4 £1.20

odd one out in each set.

ﬁ 1 40% of 75p 2 5% of £8.40
f 10% of £30 6% of £7-00
i 3% of £10 25% of £1-60

Copy and complete the table.

PRICE

SALE PRICE
15% DISCOUNT

£10-00

£8-50

£0-60

| £250-00

£180-00

£4-80

£15-00

£3-40

£8-00

£220-00

£16-00

PRI

AEC 1 AcuERn
g;;ahuannu

9 amounts of money by halving.
S £3.60

6 £2520 7 £12-24

3 20% of £3-20
1% of £32-00
32% of £2-:00

4 5% of £3-80
2% of £9-50
20% of 90p

6 Value Added Tax (VAT) is charged on
many items at 172%. 173% can be
calculated by halving.

Example
17%% of £500-00
10% of £500 = £50-00
5% of £500 = £25-00
219% of £500 = £12.50
1719% of £500 = £87-50

Use this method to find 173% of:

a) £60-00 d) £76-00
b) £10-80 e} £124.00
¢) £4-40 f} £15-20



On this

page you will learn to under

’UNDERSTANDINGADDmoN

stand the vocabulary and operation of

addition.
Kx\
2175 + 396 can be expressed n different ways.
the sum of 2175 and 396 2175 add 396
the total of 2175 and 396 2175 plus 396
2175 and 396 added together 396 greater than 2175
2175 increased by 396 396 more than 2175.
;h‘%____‘_’______
m
A
Work out
1 67 plus 67. 7 629 and 240 added together.
2 234 add 48, 8 170 greater than 180.
3 The sum of 1-6 and 1.7. 9 59 added to 256.
4 148 increased by 71, 10 428 plus 350.
5 500 more than 837, 11 48 increased by 46.
6 The total of 168 and 96,

12 400 greater than 713.

Copy and complete by writing the missing number in the box.

1

A n P W N

e

The total of 2.73 and [ Jis 3.
0-36 greater than [ ]is 0-96.
4600 add [ Jis 8200.

3700 plus [ ]is 5500.

{ ] more than 6-71 is 6-8.

7 5-43 increased by [ ]is 5-5.

8 The sum of 3-48 and [ ] is 4.

9 3600 added to[_]is 7100.

10 The total of 0-35 and [ ] is 0-65.
11 0-29 greater than [ ]is 0-79.

[ Jand 2-4 added together is 5-69. 12 [ ] plus 3-1is 9-5.

| Copy and complete by writing the missing number in the box.

g 1

=
i3
Ea
£r13

1759 4+ 1=2 =]
6700 +[ ]=12300 6
[]+0-043=12 7
7800 +[ ]=15200 8

2183 +[ =219 9 [J+0382=4
[+ 0035 =1 10 0683+ ]= 07
3564 +[ =36 11 0154 +[ =016
6900 +[_|=11400 12 [ ]+ 5600 = 13200

Find all the different totals you can make using three of these five numbers.

@@@3@@@



G RSTANDING SUBTRACTION —————————————)
o ,

n this i )
subtractri?r?.e you will learn to understand the vocabulary and operation of

[' SUBTRACTION IS:

TAKING AWAY. FINDING A DIFFERENCE.

7 take away 3, The difference between 7 and 3.
7 subtract 3. How many more s 7 than 37

7 decreased by 3. How many less is 3 than 72

THE INVERSE OF ADDITION.

Find the missing humber. []—039=04
The answer is 0.79 because 0-4 + 0-39 = 0-79.

A
Work out
‘1 Take 0-7 from 1. 5 1438 take away 500. 9 Decrease 540 by 280.
2 601 subtract 395. 6 Subtract 2-7 from 6-4. 10 10 subtract 4-8.
3' 41 less than 89. 7 420 less than 756. 11 035 less than 0-83.
4 5 decreased by 4-6. 8 6005 take 4997. 12 353 take away 29.
Copy and complete by writing the missing number in the box.
1 [ Jtake 0-6is 0-24. 7 [Jsubtract 0-48 is O-1.
2 7000 take [ ]is 3146. 8 8200 subtract| ]is 3700.
3 [Jdecreased by 0-4 is 0-06. 9 []take away 0-23 is O-7.
4 0-8 decreased by [_]is 0-46. 10 6 take away [ |is 0-63.
5 [ ]is 2600 less than 4200. 11 [ ]is 800 more than 3700.
6 2-31s[ }more than 1-4. 12 67 is[_| more than 2-1.
fc
Find the difference between these Copy and complete.
‘numbers and the target number.
10] [1] [0-49] 13 []--2800=7600 18 0-621—[]}= 032
1 58 5 028 9 165 14 0118 —-[]=0098 19 []— 8700 = 3400

éz{ 919 6 0523 10572 (15 []-04=0318 4 o50s (] 0337
| ; ; - —[J= 5800

:§ 476 7 0918 11 338 16 12300 : O “SE00 1 - 0ar — 053
4 132 o761 2 17 []-036 =0

gL - 12! 03 = 22 14200 —[] = 6600
I



On this page you will {earn to find a di

next multiple of 10, 100 or 1000.
Examples
403 — 186 =4 +10 +200+3 = 217

7003 — 3995 = 5 + 3000 + 3 = 3008
8000 — 2785 = 5 + 10 + 200 + 5000 = 5213

A

work out Wwork out
1 604 — 396 1 801—587
2 706 — 299 2 726 —169
3 908 — 569 3 635 —272
4 803 — 285 4 542 —184
5 6000 — 2994 5 8000 — 3887
6 5000 —1976 6 6000 — 3655
7 8000 — 5963 7 6007 — 2984
8 7000 — 2959 8 9008 — 4963
9 6007 — 3995 9 7014 — 4995
10 9003 — 4998 10 8016 — 2979

Now you will tearn to identify near doubles.

Examples
317+284 = (300x2)+17—-16 =600+1 =601
204 +19.7 = 20 x2) + 0-4 — 03 =40+ 01 =401

A

Work out Wik diit

1: 46+ 53 1 3024294
94 57 4 61 = i 4 56
3 79 4 84 S 2. 495
4 68+ 72 o AR B2
5 29 +32 5 197 + 206
6 65473 = AU BT
73 35437 = S S
8 22+24 8 4.9 4.8
9 45444 o B4 4 47
&0 #1438 10 62459

fference by cou

@

copy and complete.

1

oiNin T i RiwWIiNG

L9
10

e

8100 — [ = 2776
7200 —[_] = 3892
6300 —[_]= 3765
9100 — [ ] = 4688
9300 —[_] = 4855
7400 —[_| = 3764
8200 —[ ] = 2687
6200 —[]= 2768
7050 —[_]= 1940

6040 — [ ] = 2960

‘ copy and complete.

B 1

Clwinionin dlwing

10

[]—19-6 =207
[(]—50-8 =495
[]—256=2418
[1—31-4 =293

[(]—187 =216

[(]—412 =399
[(]—385 =429
[]—383 =425
[1—347 =356
[]—578=613

il



Examples

:-85 +39=454140_07- 85—-01=284
r4 —29=78-304+07] — 48+01=49
—21=43-20-01-33_ 01=22

A
[83 TR |
work out : .r@
‘1! 1.5+ 0.9 ork out . Copy and complete,
1 16 . 7 —
€25 62 — 0.9 e +? 9 1 [(}—19-6 =207
e _9 i _ - 3
€33 71411 _2 []-50-8 =496
‘4. 39—-141 3 68421 i-; 3 [(]—40-4 =392
4 76—11 "4 []—-293=314
:. 5 2'3 + 0'9 ;-___,
6 45-09 e [ Oo-ne-127
G ovn 6 64—09 (6 []—483=521
" S& o 7 37441 [7 []—-385=429
@) <6 —1L 8 33-31 I'8 []—425=7383
(9 48409 o 454 5 P O 712 —es7
10 54 —-09 10 5.5 —2-9 E}o []—57-8 =613
Now you will learn to use the relationship between addition and subtraction.
If you know one addition or subtraction fact Example
you can state three other related facts. 325 — 263 = 070 330079 =253
253+ 079=332 0794253 =332
A B e ‘
Copy and complete. Use the 3 Work out and write three . For each set of numbers write
given numbers only. other related facts.  four related + or — facts.
1 67+74 =141 1 1.64+39 E 1 36, 547,9-07
7a+[ =[] 2 57-31 i 2 34,1751
AL~ =EJD 3 37459 ('3 4003, 1022, 2981
f4:l = El]l— = 4 68—24 4 2986, 6021, 3007
2 47+11= &
< .0 03 g 5 38, 651, 271
(1-O=11 6 2001 —240 %6 6-4, 3-8, 2-6
58 —[J=(] 7 3016 + 1994 |7 2965, 4049, 7014
3 153+27 =[] 8 4007 —1983 |8 9048, 3975, 5023
[(J+[]=180 9 6004 +2997 !9 28366377
= = 10 9200 — 5800 1110 4-54, 0-56, 51

¥

[(—-CI=E]



38— MENTAL STRATEGIES (+-AND -~

On this page you will learn to use a variety of strategies to add several
humbers.

. ]

There are ten ways of

. going from the Start to the Finish.
Find the total for each

of the ten routes.

14 14
12 12
START 18 12 FINISH
11 28
13 7
Work out
1 26+18+4+1447 6 28+27416+22 11 1849428 +7
2 0+234244+22 7 15419425417 12 9+S+13+7+8
3 30450+ 60+ 50 8 74+6+18+5+9 13 39 + 38 + 39 4 40
4 52+50+53+57 9 54+14+9+6+3 14 40 +30+50 +70
5 90+ 70420+ 40 10 38+24 +32+13 15 50 +190 +30 + 80
F
(&

. Copy and complete by writing the missing number in the box.
.1 76 +18 +[ ]+ 34 =144 6 S59+[]+43+61 =199

. 50 +40 4[]+ 60 +20 = 260 7 6+184[1+27+ 62 =130
40 +39 +[J+ 42+ 41 =205 8 30 +240+170 +[ ] =510

72+ [1+39 + 48 — 187 9 244254284 []+27 =130

., 140 4270 + [ ]+ 160 = 720 10 90 +70 + 480 + [ ]+ 40 = 740

I
Examples
Look for pairs that make multiples of 10 or 100. 20 + 70 + 80 = 80 + 20 + 70
=100 + 70
=170
Start with the largest number. 64+12+284+5=284+13+6+5
=41 +6+5
=47 +5
=52
Recognise an equivalent multiplication. 14 +154+16+15 =4 x15
= 60




MENTAL STRATEGIES (4 AND =)

On this page you will
subtract pairs of num

use and explain g variety of strategies to add or
bers mentally.

A B

r ‘f_)
Copy and complete the &
s Write the answers only. Copy and complete.
D T o 1 6800 + 2500 L1 [ ]+ 4700 = 11500
0|3
:Si 450 2 5300 -2700 " 2 []- 6900 = 5400
390 650 3 05 :
S — +0-28 13 0524 -[]=0124
540) 4 072-04 0-006 = 0-065
460 L4 []-0006=
S 5 065403 P 5 [J+03=0796
6 09-032 6 0951 —[]=0-948
. | e
2 | — l1320{250(510 7 3600 + 3500
873|553 L 8 32-0.05 17 2681+[]=3
68| | s 263 Y
= IR i ‘:“8 - 81+D 2.69
a8 10 0-6 — 017 B2, 268+l }= 0.502
11 3700 + 4800 jjlo o8s2—[]=0
3 |+ l126|19|57 12 9300 — 4700 j{12)[ ]~ 0-877 =1
112 []— 0344 =04
25 13 04+ 031
S 14 0-84 — 06 {13 []— 0253 =026
58 15 053+ 04 14 068 —[]= 0674
16 8100 — 2900 115 0.8 —[]=0725
4 | — |I360[290470| 16 []+ 3400 = 11100
540 Add 59 to:  Add 3600 to: $ 17 [} 4300 = 8800
820 17 37 20 2600 1’18 7500 +[ ]=13300
650 18 54 21 5900
19 8.9 22 4700 Copy and complete the
squares.
2 | & 7005001800 Take 3-1 from: Take 2700 from: 12.4 4 058 09 106
693 23 65 26 7400 0-67 L
849 24 92 27 3600 15
| 1 2.4
521 25 4-8 28 9100 E
- _ .20 | = Jos]o3sfore
6 | — 1126159148 Make 1. Make 10 000. ]
29 0-54 32 7300 ] .
8'2 5'6 2‘6
30 0-37 33 5800 | 2-€ |
7-5 o . it 0-82
L9.3 31 O- i




38

On this page you'wuu learn two ynform

L METHO

was £17348. She also
earned a bonus of
£1365. How much was
she paid altogether?

al methods for addition,

COMPENSATION
T
ADD LARGEST VALUE DIGITS FIRS Exah'IPlC ;f;,:
Examples 5384 2673 +78‘FS |
+2729  +1592 (4865 200,
7000 3000 —_32 (2678 _ 200
1000 1100 7543 v)
100 160
13 5
8113 4265 .
rrg ’ -
A B hods for each Add largest value digje, |
Use both methods for each Use both met | first. Set out as tn the
sum. sunl. 4392 - examples.
1, 58 g, 364 2R % % 4;73 a; 3486 + 1957
+249 +186 + 1946 — P
2 12385+ 7850
2 659 5 786 , 3649 7 268i " |
& 778 57 41578 +1594 E 3 23408 + 15473
§~ 4 9748 + 2976
3. 87 8 947 3 4564 g 54 ¢
+ 685 ¥ 593 + 2788 +2863  B's 5839+ 7794
- 74
‘4 1654 9. 1368 a 678 9 7B 6 38674+ 9369 |
+ 97 + 467 + 1957 + 4135 | Use compensation. Set gy
as in the example.
5 2087 g9 4923 s 5895 10 8 L3 (90715793
+ 359 + 958 +2578 +3946 A
i 8 7564+ 3988
A1 267 women and 395 men 11 In December a factory ? 9 47561 + 24938
belong to a Health Club. made 5962 cars. In
How many members are January production ({10 8675 + 4976
there altogether? increased by 1378. How g
many cars were made "11 17923 +5786
in January? 12 56790 + 7692
12 Aeysha’s annual salary %13 A car had a mileage of

32517. In the next year
it was driven a further
9864 miles. What was
the new mileage?



A

Copy and complete.

1 485 7 3682
+348 + 469
3 379 8 1568
+184 + 785
3 696 9 4574
+275 + 972
+ 5%6 + 854
5 2808 11 3695
+_639 + 637
6 2937 1o 5284
+ 448 + 919

13 2758 cars used a car park
on Sunday. This was 697
fewer cars than on the
previous day. How many
cars had used the car
park on Saturday?

Copy and complete.

1

2

14

4835 7 9837
+2689 +1695
5786 8 6794
+ 3698 + 5987
7968 9 7985
+ 4287 + 4653
6957 10 9469
+5728 +5165
3579 11 8736
+1859 + 3295
8658 1 7689
+ 1879 +5726

Winston has £6584 in
his bank account. A
cheque for his monthly
salary of £1947 is paid
in. How much is there
how in the account?

New York is 3473 miles
from London. San
Francisco is a further
1896 miles away. How
far is it from London to
San Francisco?

Vi iNEIAI W, B WIN

Set out as in the example.

1

i
o

™
d

. 12

13756 + 8475
24 673 + 6959
51968 + 8274
84789 + 7689
60597 + 5768
29 627 + 4896
58384 + 3876
47493 4 S876
36569 + 9653
43758 + 8974

The population of a
town is 69776. A
further 6478 people live
in a nearby village.
What is their combined
population?

35 827 watched City’s
home game. The
attendance at their next
match was 9195 more.
How many people
watched the second
game?



-FINDING T
__*__-_____-—___—_—/ 0
. TAL&
On this page you will tearn:

r

® to add several numbers.

| Example 20m + 5.7 km+83m ;
- Add 7, 638, 2614, 92, 3526 km |
7 0320 Line up the

5.700 decimal points.

!
638 Line-up ;
Put In missing zergs. ;

2614  the units. +9,',9.83
6103
T 1
A
Copy and complete. : €
1 26 5. 329 3, 2406 £ 2 6 £
488 59 75 162 1.9 03
3 3642 186 0-28 ' p 3-4¢
1265 47 4 0-07 +2'24 259
.15 £ -
+ 97 + 8 + 83 +1:1> e +1.01
Set out as sums and find the totals.
1 324 + 4452 4 56 4+ 8 +1705 7 1824103+ 025
2 3663+ 3 4 971 + 2537 + 79 8 217-16 + 0-05 + 3-7
3 2192 + 586 + 3675 + 98 +2 9 13km+270m
4 541738 + 27 + 243 + 2584 10 4-86km +1300m
5 23.29 4 6.8 11 400m 4+ 60m +2-7km
6 145.7 +238 12 0-8km + 4-365km +20m
F@ S T TR T R e s R S R S T T S T SR IR . . “
Set out as sums and find the totals.
[ 1 182+ 3254 + 736 + 3 + 12387 7 192 +1483 + 0-165
{2 6430653+ 541 4 3475 + 928 8 1736 + 1128 + 09
i 3 2963 + 345+ 25712 4294 + 7 9 121km+263m
14 57919+ 683 + 8 + 2537 + 651 10 0-07 km + 1832 m
[ 5 61+ 0-087 11 13km + 0-97 km + 156 m
[.6 1304 +7603 12 0-006km+19m +7m



COUNTING UP
5435

—1767
~ 33 (1800)
200 (2000}
3435 (5435)
3668

A

Use both methods for each

q) 437 7 36l
- —186 —289

—175 — 264
3. 359 (9. 237
- —268 —178
‘4 565 10 872

—437 —37
& 681 11 540
394 —181
& 724 g3 913
o =255 — 625

A3 Glen spent £625 on hats
on Friday and £382 on
Saturday. How much less
did he spend on
Saturday?

oy

COMPENSATION

5345
~1767
3345
+ 233
3578

Use both methods for each
Sum.

1

14

2961 7 6315
—1397 — 3678
5146 g 5873
—3972 — 4132
8362 ¢ 3140
—2784 —2753
6314 19 7522
— 2586 — 3947
9083 17 8305
—4430 — 5863
4160 15 9141
—2381 —2703

There are 1267 children
in Southan. The
population of the town
is 8254. How many
adults live in the town?

8651 people saw a film
in june. 2174 less
people saw the film in
July. What was the total
audience for july?

INFORMAL METHODS FOR SUBTRACTION

On this page you will learn two informal written methods for subtr

-

£

HC

Set out correctly. Use both

action.

(5345 — 2000)
(2000 — 1767)

methods for each sum.

N piwiNim

14

16512 — 14 675
13747 — 12968
27934 — 18157
32158 — 25389
50361 — 33596
24 061 — 17596

37517 — 29831
46234 — 18359
48902 — 23145
31185 — 24 637
42350 — 22576
60713 — 39816

In her old job Amelia
was paid £17 956 each
year. Her new annual
salary is £24172. By
how much has her
salary increased?

52750 copies of a
magazine were printed
but only 38 519 were
sold. How many copies
were not sold?



Monday?

children used a
swimming pool. The
total number of tickets
sold was 3163. How
many adults used the
pool?

METHOD 1 5478
5428 = 53128 = 4'3'28 2794
-2794 2794 2794
i‘g"’a"z 263 4
G
A Set out corre )
Use Method 2. Ctly ang
Use Method 1. 5832 Method 2 Usg
1 374 g 737 1 4080 7 b '
~168 —293 —2163 —2363 ,{ 3464 13709
== == |2 32032 - 16354
2 485 5 529 5 2737 8 35‘;2 | 320783~ 1075
- —1943 -2318 B a5z
237 —438 22= 26587
i.
3 609 g 850 3’ e g :ﬁ;g 1.5, 5150124653
_ B
— 345 471 —2851 = | 6 74260 — 473598
L7 34715 — 16379
Use Method 4 7143 10 8025 e
od 2. 3456 — 3279 i 53263 -~ 24 685
7 638 10 426 = ' g
~276 —218 s 3501 m. 6174 R2.7150-42763
26 —2937 ~4586  [110 42170 —391g¢
8 _16; 1 222 F11 25312~ 17615
== i 6 8264 12 7350  H15 80637 — 53759
~ 3895 —6974 |
9 _5;5; (12 _i‘; ‘ IB In December 4 shop
— —_— 13 Mustapha has £2640 n £ had takings of £51309
. J :
| hl_s bank account. He In January takings fe
13 Arthur worked for 325 withdraws £1825. How | by £23687. How much
minutes on Monday and much is left in the ' _was taken in January?
only 183 minutes on account? |
Tgesday. ’_"OW many more 5;14 At the beginning of the
minutes did he work on 14 In one week 1827 year the milometer on 3

car read 27 495. At the
end of the year it read
42 360. How many miles
had the car travelled
during the year?



FINDING DIFFERENCES o

On this page you will legyn-

to find the diffe
° rence between numbers with different numbers of digits.
gxample
Find the difference

petweeh 3268 and 29 475 29475 Larger humber on top

— 3268 Line up the units.
e to find the difference between decimals

gexample
Find the difference

between 2-:47 and 0-6. 2:47 Line up the decimal points.

—0-60 Put in missing zeros.

A f'@ : |

Copy and complete.

1 5136 & 7320 f:‘ out correctly and find Set out correctly and find
T~ o3 ~ 26 e differences. the differences.
- 1 12632 and 1374 . 1 135703 and 981
2 687 and 35410 2 687 and 35410
D 2462 &3 735 3 20371 and 2193 '3 20371 and 2193
- 247 32 4 1761 and 57143 4 1761 and 57143
5 41528 and 571
2 1271 @ 420 6 698 and 63250 g gl
— 368 —147 S sge sw 6 698 and 63250
8 802—1375 2 —is
4 4053 9 8-41 ST 8 321 —0-526
~ 527 —i4-38 16 432 — 25 L9 4391-—27
11 35— 061 10 813 —1:64
5 6514 10 431 12 2.4 —1.55 11 27-4 — 4965
il =463 13 The 100 metres was jj2: 34625 — 05
won in 10-83 seconds. 13 igbal has £17243 in his
11 A shop has 1352 pairs of Justin’s time was 11-4 bank account. He
shoes in stock. seconds. What was the withdraws £1864. How
639 pairs are sold. difference between much is left in the
Justin’s time and the account?

How many are left?

. " _ .
il i 14 A lorry is carrying 2-3

12 A plank is 3-25 metres _:Em;\ tonnes of goods. 0-56
long. 1-38 metres is sawn ———"*—'f/;:l»«’ tonnes is untoaded.
off. How long is the plank ———— L How much weight is the
now? Sem— ——~‘u' lorry carrying?



DERSTAND CAY,
L se the inverse relationship of Multip(;, Q
. to :
On this page you wilt learn tig,
and division.
Example 0.4 % 6= 2.4 6 x 04 =2.4
Knowing one x or + fact means 4+ 6=04 24 +04=¢
that you know 3 related facts. - @
A Copy and com
Co & chmplets copy nd cammpler mut[gt\: licatio Plete t"lese
pyy 82( comp 1 [(]x02B= 5 i "‘FSanres.
eacn taole. 1 » H\F\
1 %6 | 2 4x[]=28 S %%f\\
—2:4 _ N
s B 5 []x05=10 %ﬁg 37\‘8\
8 — 6 [Ix1=3 7 1149 ] E_J:\
8 x 8 = 64 ~—
2 x7 9 4DX D 036 2 % %Lﬁr\
A =21 421__ %_164%1
— 42 10 [j*x03= 35 o T
Sl N
— 63 12 3x[]=015 2|
l 0-3 — _ 7 |
13 []x5=20 I 1 1§
14 09 x[]= 09
3 %8 ’ 15 [ ]x 6 = 0-48 3 ﬁ[‘—hh
5 40 Write four different x or — 49 j%
06 =+ statements for each set of 30 2ol
— 72 numbers. ‘h*-“—?
=36 16 12,04, 3 TR
=32 | 17 02,7,14 361 52| Tl
18 65, 5,13 o
a}_' x
032 —1-8 20 6, 4,15
35 4.0
— 81 21 07,25,1.75 1
— 4.5 22 193,57 :
— 63 33 06, 84 14 0-48
06 — ' ! 63 36
24 80, 400, 5 0| |




A

write a number sentence for
each problem and then work
out the answer.

(23
,2'

£

Find 7 groups of 6.

what is 20 times greater
than 9?2

what is 9 multiplied by 72

4 Find the product of 31

and 8.

5 Multiply 0-4 by 10.

7: There are 16 biscuits in a

10

What is 3 times 1.57

packet. There are S5
packets. How many
biscuits are there?

A small box holds 80 tea
bags. A larger box holds
three times as many.
How many tea bags are
in the larger box?

A shelf holds 15 videos.
How many videos can 15
shelves hold?

It takes Navid 7-4
seconds to watk 10
metres. How long will it
take him to walk 100

metres?

‘s

MULTIPLICATION PROBLEMS

On this page you will learn to use the vocabulary of mu(tphcation.

3

Write a number sentence
for each problem and work
out the answer.

1

Find the product of 5
and 19.

What is 0-08 times 10?
Multiply 75 by 8.

What is 5 groups of
0-67

An ant takes 1-23
seconds to walk 1cm.
How long will it take
the ant to walk

2 metres?

How many hours are
there in a week?

There are 17 oak trees
in a wood. There are
eight times as many
beech trees. How many
beech trees are there in
the wood?

300 people watch a film
on Thursday. The
audience on Friday is
1.6 times larger. How
many people watch the
film on Friday?

G
1

Look at the numbers 1n
the box.

[02 25

08 025 14

a) What is the largest
number multiptied
by the smallest
number?

b) What number is
1000 times greater
than the second
largest number?

¢) What is 13 lots of
the middle number?

d) Multiply the total of
the three smallest
numbers by 8.

e) What is the square
of the sum of the
two largest
numbers?

f) Ten different
products can be
made using pairs of
the five numbers.
Can you find them
allz

A play was performed

16 times. The average

audience was 275.

How many people saw

the play?

Each stride Jessica

takes 1s 0-8 metres

long. She paces out 260

strides. How far has

she walked?



On this page you
multiplication.

Example
Knowing one x or + fact means
that you know 3 related facts.

A

Copy and complete

the tables.

1

r—— e ey

16
24 - 4
48 —
— 10
42 —
—3

54—

=25

50 —=2
100 —
— 10

200 —
125 —

54 — 6
27 —

36 —
— 7

— 9

270 — 27
35 —
— 2-4

630 —
— 11-7

will learn to use th

13

Copy and complete.

1

Vi P W ON

Vo TR - NN B«

il =

15

16
17
18
19
20

2+1=8
D~:—100:2-3
54+ 1=9

0.9 +[]=109
D+1=100
15+ ]1=25
J+nr=1
240 +[]=40

28+ =028
[(J+4=06
19 +[J=19
[J+6=028
1 +[|=011

240 +[1=12
[(1+=2=075
1+[]=001
[]+-7=13
400 <[ ]=50

Write three related
X Or < statements.

21
22
23
24

4x02=08
39 4+3=13

800 +25 =22
16 x 24 =384

g+5=16 8+16=ce
5x16=28 1-6x5:8
e
\‘9 .
Copy and complete ¢
he tableg
1
INPUT [
. ; QUTR;
6-25 &8 r\‘r
0-04 %10
0-56 =8
+1 0 139
5 9z
0.
0-8 0.205
22
g 2
INPUT ﬁm
420 <1000 | ——
6-5 =5
e 0-008
7-1 74
0-54 LD )
.3
INPUT ouTeLT]
58 -1 -
27 =100
+8 0-08
+1000 | 0-01
=15 0-04
0-6 0-06
3 1.5
39 0-039




A

write a number sentence for
each problem and work oyt
the answer.

(17 Share 600 by 20,

(2" What is one fifth of 907

{3/ How many 8s are there
in 722

‘4> Divide 72 by 6.

(5 What is 2100 divided

by 72

‘6 How many 1Ss go into

1202

(7 Each box holds 6 cakes.
How many boxes can be
filled from 240 cakes?

(8 £5-00 is shared between
4 friends. How much
does each friend receive?

‘9. Luke’s grandmother is 91.
She is seven times as old
as Luke. How old is Luke?

10 How many years are
there in 84 months?

11 A council worker cut
90 cm of tape into 6
equal lengths.

How long is each piece of
tape?

Write 3 number sentence

for each problem and work
out the answer.

1 A party of 22 people
Paid £396 for theatre
tickets. How much did
each ticket cost?

2 300 children are
divided equally into 12
classes. How many
children are there in
each elass?

3 Each glass has 3
capacity of 220 ml. How
many glasses can be
filled from 3 litres of
fruit juice? How much
fruit juice is left over?

4 7 metres of ribbon is
cut into 25 equal
lengths. How long is
each length?

5 120 children were asked
to choose their
favourite day of the
week. One third chose
Saturday, one quarter
chose Sunday and one
eighth chose Friday.
How many children
chose a different day?

Write a number sentence
for each problem and work
out the answer.

I 1 A lottery prize of £2100

is shared between 15
people. How much does
each person win?

The 48 tins of sardines
in a box weigh 16-8 kg.
How much does each
tin weigh?

Each bag holds 16
satsumas. How many
bags can be filled from
592 satsumas?

in a random check,
potice found that 1 car
in every 18 had
dangerously worn tyres.
432 cars were
inspected. How many
cars had worn tyres?

In a game of Fantasy
Cricket, England scored
252 runs. Openers
Gooch and Compton
scored one third and
one quarter of the runs,
while Botham smashed
one seventh of the
total. How many runs
were scored by the rest
of the side?




A

On this page ou will

Wnte the answers only.

BEEB oy D wn s wNH

15
16

18

19

YERNS

. 49

6x2
10 x2
9 %2
7 %2
1x2
8 x2

5%x3
6 x3
O0x3
8x3
7%3
9ix 3

8 x4
1x4
7 x4
9%x4
6 x4
10x 4

4 x5
& x5
6 X5
0x5
9 x5
7 X5

25
26
27
28
29
30

31
32
33
34
35
36

37
38
39
40
41

2
43
44
45
46

47
48

6x6
10 x 6
8 x 6
4x6
9x%x6
7%x6

9x7
6x7
1x7
8 x7
7%x7
5%/

Ox8
7x8
9%x8
3x8
6x8
8 x8

8x9
5x%x9
7x9
9x9
4 x9
6 x9

Copy and complete the
multiplication square.

<]

6

24

63

12

"MULTIPLICATION ¢

tiplication and division facyg.

practise the mul

FC
Wri '
Copy and complete each of 1 t‘; t:i TSW"-'S only, )
the tables. Fz‘ ! O
[2)7%06 .33 704
1 [ = %
08 — b4 0205 {12y X:
0.4 — k4 06%08 1g 4 oo
ot P 006 xs izt
07 = I O8x;
— 0 |
b (6 06x9 1
54 }"7 3x0 ) 08 X 04
3.6 Ao 819
[ 238 f o e
1 8 8 X 0'6 18 0
S 59 o7 %0 Boha?
- e .. - 110 8 x 005 i oo xs
03— '
g — I e 0% k05
5—
- Copy and complete,
o 5 21 [(1x7=063
..u;-; “22 06><D 018
gz.’24 018 =[] = 0-06
: E.@5]‘_‘]x8=4-8
g-; - ff§'26 0-08 x[ ]= 056
8 — Ki27 D_}' 5=9
—48 ‘ 28 63+[1=07
— 8 ‘-‘
— 32 ;“
el 129 [Ix4=28
{50 6 x[]=36
4 X9 ;31 D":—8=0‘08
;l
0;—» 832 28+ ]=04
—_ l:a
0-6 —
03 — 533 Dx9=081
-»§13 «734 0-6x[ |=042
i r 35 [(]+-6=09
3 72 36 056+ 0-08
RasezLIz e

R
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On this page you will learn to give a remainder as a fraction or as a decimal

fraction.
Examples
=3 18 +7 =24 = 2.6 (to 1 decimal place)
235 7
4)94-0 2-57 etc.
8 7)18-:00°
8 (2 x 4) 14
12 1 (2 x 7)
-0
12 3x4
- ) 350 (05 x 7)
-5
2-0 0-
= (0-5 x 4) 049 (07 x7)
etc.
A e |
Give the_ é:\swer as a fr.actlon. Give the answer as a fraction. Copy and complete.
11 91+ 63 GBi=5 1 107+7 6 173+8 1 [(J+6=183
2: 169 +10 75 35+ 6 2 103+8 7 2617 +100 2 [J+9=26%
3 35+8 8 579 =100 3 131 =9 8 131 =6 3> D+15=121L5
4:307+25 9 60+7 4 183+11 9 238+9 4 [J+8=2%
5 56+9 10 2338 5 73+6 10 180 =7 5 [ J-13=108%
. Give the answer as a decimal. 6 []+7=332
Give the answer as a decimal Round to one decimal place 7 []=8=272
11 1472 16 £570 2 where appropriate. . 8 [|=7=482
2 61+4 17 £€13-20 =4 11 177 +-10 16 132 =8 9 DAlZ=16l
* 12
13 83=5 18 £4320 =5 12 72+5 17 937 110 [J=9 =432
= 9
B 497+ @F 52900 210 e 18 107+ 6 Give the answer as a
15 71+4 20 £11-40+4 e e Jecimal Eraclion. Where
15 80+3 20 238+9 appropriate, round to
21 Five friends travel by 21 8 loads weigh 1730 kg. (;';e gsec_smzaol place.
coach. Their tickets cost What does one load ’
£78 altogether. How much weigh tn kilograms? 12 2432 + 1000
does one ticket cost? .13 11 =38
14 173+ 7
. 15 150 =9
22 A car holds 50 litres of )
petrol. How many litres are 16 92505
left when the petrol tank is 17 386+ 8
18 294 =12

one quarter full?



DING REMAINDERS Up op

ble decisions about Oung,
I

Q)

On this page you will lear® ng .
down after division. Po,
Examples A Ly nany Feassid
w -) -
e How many €12 tickets a Foo d Fr\:) %_S' € rugby e,
can | buy with £187? fmed TFOmI 23 playerss “an g,
187 = 12 = 15 remainder 7 9 A shop can display 12 dresses
: 0
Answer: 15 tickets can be bought. How many rails are needeq ¢, d : ray
dresses? ISp yé
{
3 8 shuttlecocks are packed A
e An egg box holds 12 eqgs. , How many tubes can be filled ¢ ube.
How many boxes are needed for 187 095+ shuttlecocks? Om
187 = 12 = 15 remainder 7 YYe
Answer: 16 boxes are needed. Nl

A4 6 people can sit at each taple it

{I
_ . canteen. How many tables 3 taey,

e Each jar holds 400 g of jam. are neey
seat the 200 workers €d

How many jars can be filled from 5 at the Factory?

kilograms of jam? (5 A cup of coffee costs 90p.

5000 = 400 = 12 remainder 200 How many can be bought with g14;

Answer: 12 jars can be filled. 6 Tom wants to buy a Hi Fi costing £rs,

He saves £9 each week.
_ How many weeks will it take him ¢ ¢
e Maurice earns £400 each week. the money he needs? 3
How many weeks will it take him to earn
£50007? &
5000 = 400 = 12 remainder 200

Safety pins are sold in boxes of 75
How many boxes can be filled from g,
safety pins?

Answer: It takes 13 weeks.
(8! A mini bus can carry 15 passengers,

How many mini buses are needed to
carry 98 people?

9 How many complete weeks are there
160 days?

10 Atlases are packed in boxes of 20.
How many boxes will be needed for
250 atlases ordered by a school?



13!

1

10

A river ferry can take 48 cars on each
trip. HOW many crossings does the

» fe
need to make to carry 600 cars? "

Felt tips are sold in packets of 12.
How many packets can be made up
from 152 felt tips?

Cans of drink cost 65p. How many cans
can be bought with £107?

A school hall can fit 28 chairs into one
row. HOw many rows are needed to seat
460 parents?

There are 25 milk cartons in each pack.
A school needs 460 cartons. How many
packs does it need to order?

A Rugby Union team has 15 players.
How many teams can be made from 131

players?

A family saves £120 every month
towards their £1000 holiday. How many
months will it take to save the £10007?

How many 60 cm lengths of string can
be cut from 65 metres?

Each egq box holds 6 eggs. How many
boxes are needed for 350 eqgs?

There are 16 sausages in each pack.
How many packs can be made up from
500 sausages?

@

—

[

‘10

Each box contains 75 pills.
How many boxes can be flled from

5000 pills?

One coach of a train can carry 72
passengers. How many coaches are
needed to carry 1200 passengers?

There are 13 players in a Rugby League
team. How many teams could you form
from 205 players?

How many 350 g jars are needed to
store 5 kg of marmalade?

A restaurant has 400 empty bottles.
A crate holds 24 bottles. How many
crates can be filled with empty bottles?

Amy walks to school every morning in
order to save the 65p bus fare.

How often does she need to do this
before she has saved up the £30 she
heeds to buy a new pair of tramners?

A hot dog costs £1.20. How many hot
dogs can be bought with £257

Each coach can carry 53 passengers.
How many coaches are needed to carry
3000 football supporters to an away
match?

There are 960 staples in each box.
How many boxes can be filled from one
million staples?

An author writes 1800 words every day.
How many days does it take her to
write one million words?




Examples

A

28 x 18 =
576 = 18 =

Copy and complete.

1

C O NN P WN

14><6==14x3><2==
1Sx8=15><2>c2><2=—‘
9x]2=9><3x2><2=
7x15=7%x3x5=
MUx9=14x%x3%x3=
96-:—12::96-:—3—:—2+2:-
126 29 =126+3+3=
156—:—]2:156-:—3+2—:~2=
180~:—15==180—:—3—:—5=

10 210—:-14=-210-:-7—:—2z

Now you will learn to wor

Example EIGHTS
TENS
EIGHTEENS
A

Copy and complete the table
to work out the 15 times-table.

TFIVES | TENS | FIFTEENS |
5 10 15
10 20 30
15 30
20
25
50 100

(576 + 3)

k out a times

_table by adding.

48

30 40 50 60 70 80 90 199
e sa 72 90 108 126 144 16 g
gy@ o Sy T ) “-’
Copy and continue the . Copy and continue the
tables to x10. tables to x10.
SEVENS | TENS [SEVENTEENS I 30s 36
7 10 17 ! 6 30 >
14 20 34 o 10 €0 -
ﬁ
[ 3s 20s 23s | 8s 40s | 485 |
3 20 23 g 8 40 48 |
6 40 46 16 80 9% |

T S ——
S

J',_:.USE zctorg 0 work " .‘1
Pli 226 g,
(2 16x45 ESg S5
AR bts 00
f 313 =
2”’, X 56 1_? 23 . 233
Ai 32x15 34 %
i'5 17 -t " X1y
B *48 115 2.4 5
;51 B x58 .1‘6 26 x‘;S
(7 368+16 17 g 3
‘."M' 2. 1 ”:'ZS
)3, 48352 m gy
*L".?, 396518 19 41.6 < . &
110 33415 30 49, )
o 7]
il
56 64

g




ber by 49, 51, 99 or 101.

mples 17 % 5] =
e o (17><so]+(17><1) 17 x 99 = (17 x 100) — (17 x 1)

= 850 + 17
= 1700 — 17
= 867
= 1683
A B e '
work out Wik —
4) 9 x 19 . rl-?'c)utS:l Copy and complete.
)= 4 \ = =
% 755 5 S 11 16 x 99 1 [(1+41=12
> ; | = -

& rrns 12 19 x 99 ;2[:.39 13
r 5a 3 18x51 13 17x57 3 [J+61=1
B " 4 12x49 4 23 x 51 4 [1+59=12

. > 15x49 15 24x49 s [Jr4a1=15
[3 6 19%x49 16 18 x 49 6 [J+39=16
7 18 x19

o 7 11x101 17 19 x 101 7 [(J+61=16

9 \

8 . 8 15x101 18 26 %101 8 []+59=14
9 24X 9 17x101 19 18 x 99 9 [J+41=717
10 7 x 2 10 14 x99 20 22 x 99 10 [(J+39=19

Now you will learn to multiply by partitioning.

Examples 79 X8 = (70 x 8) + (9 x g) 53 x 6= (5% 6) + (03 x 6)

=560 + 72 =30+1-8

= 632 = 31-8
A B e
Work out Work out Copy and complete.
‘1 36x4 1 72x6 11 67 %6 tE 1l [ ]+-6=57
2 49 x5 2 86 x7 12 76 %9 L2 [J+7=283
3 38x6 3 59%x8 13 8x%x6 € [1+-8=97
4 27 x7 4 86x9 14 69 x7 4 []+9=69
5 44 x 8 S 73x7 15 75 % 8 5 [[]J=6=046
6 26x9 6 84x8 16 94x9 6 []=7=78
7 43x%x4 7 75%x6 17 96x%x6 7 [ ]=8=079
8 56x5 8 58x7 18 97 x7 8 [ j]+9=287
9 62x%x6 9 92x8 19 68x8 9 []+6=095
10 32 x7

10 89x9 20 57x%x9 110 [}+7=0-67



9 whole number or decimgy|

lyin
» ultlplY'
On this page yOU\W'“ pr_af;:l::. mber
fraction by any single-did' ) yyaspe LEEAS (10 x 4) 4
4 X 7 = 4 o
Examples 64X7=“'(60x7}+( o e }
— 420+ 28 = 6-4
= 448 -
5 , and complete: Copy and complete tne
Write the answers only. A P g3 =[] | ti ei—-—ﬂﬁ
2 67 X 4 ”'—-‘-[j Tx
2 18x 3 E] — 378
3 26x2 3 0Ax6= P
X
4 24 x3 s 07x8=0C — B
5 3-6><2=[:| | — 10-2
— 17-
23 A & 6 49x5=0] —+27:
6 42 x 5 ! ——‘———-——ﬁ.l
= X
8 38 x 4 8 2.4 X 7 = D | W
9 14x7 9 64 x[]=128 &4 —s
10 24 x 8 10 07 x[1=35 | — 17.5
11 38x5 1 47 x[1=141 = ;i?»
— 29-4
' : =19-2
12 26 x9 12 24 x[] | s
13 03 x2 13 39 x[ =156 5
14 0-4 X 3 14 0.9 X D — 6.3 B 47 .
@5 057 15 23x[]=138 7.6 —s
16 06 x5 16 35 x[]=28 : 5136
17 04 x6 17 [Ix3=126 — 232
18 05 x 9 18 [Jx 5 =230 :‘;Z'g
19 08 x5 S
Z = . ! e
20 03 x8 19 Ll 13-4 4 x9 |
20 [x4=32 T
221 Z;Xll AL % =10 o
23 o 22 [(Jx7=147 — 126
05 :
24 02X6 B Dx9 =17 —*22'4
2% 7 — -9




ENTAL STRATEG|ES
On this page you will practise.

o multiplying a decimal fraction by 10 or 100

o dividing a one or two-

7+10 = 0.7

gxamples 65 =10 = 6.5
A

Multiply by 10.

1 34 5 123
2 136 6 05
3 0-03 7 208
4 48 8 73
Divide by 10.

9 2 13 5
10 12 14 48
11 6 15 34
12 25 16 9

Multiply by 100.

17 125 21
18 4-07 22
19 0-5 23
20 3-62 24
Divide by 100.

25 31 29
26 75 30
27 63 31

28 26 32

4-58 x 10 = 45.
32 %10 =32

82
0-63
0-09
514

43
18
57

69 x 100 = 690

digit numbey by 10 or 100.

4 =100 = 0-04
23 +100 = 0-23

Work out

1 24 xi30 2 16 +10
2 137 %100 10 6 - 100
3 174 x 10 11 8 =10

4 82x100 12 39 - 10
5 136 x10 13 25100
6 05x10 14 1100
7 4.07 x 100 15 34 =100
8 063x100 16 86 = 100

Copy and complete.
17 [(]x10 =03
18 52 +[]=52

19 05 x[ ]=50
20 []+100 = 0-03
21 [(]+10 =07
22 [ ]x100=9

23 2-08 x[_]=20-8
24 59 [ ]= 059

25 Ladybirds weigh 0-071 grams.

How much do 100 ladybirds
weigh?

e
Copy and complete the
tables.

g 1 +10

303
— 17

— 0-9
(26— |

2 x100
4-71 — 471
13.9 —

— 06
015 —

3 <100
18 — 018
2 —

— 0-05
36 —

4 [xa00n

— 400
5.63 —
— 2600

. —8

5 ~1000 |
T
—+ 0-006
— 0.03
|7 _—




On this page you will practise:

e doubling a decimal fraction.

029 x 2= (02 X 2) * (009 e
= 0-4 + 0-18
= 0-58

Examples 067 x2=[06x 2 + (007X 2)
=12+ 014
=1-34

2)

e halving a decimal fraction.

Examples 027 +2= (0252 + (0072 0T (05 +2) + (006 5

)
= 0-25 + 0-03
— 01+ 0035
= 0135 - 0_23
A (&
Double these numbers. write the answers only. Copy and complete the
1 04 9 024 1 03x2 7 07 +2 tables.
2 07 10 035 S phwz B 0362 1! Donble
3% 05 11 0-64 3 009%x2 9 0-38 -2 m
4 02 12 081 4 026x2 10 0-:08+2 035 _,
s o72x2 11 0:9+%2 0-315 —,
) 02 13 08 6 065x2 12 045+2 069 —
6 06 14 0-43 g-ii’: —
* -
i A5 O3 Copy and complete. —19
8 0431 16 092 15 (%2 =076 -l
14 [j + 2 = 025 — 0-35
15 [1x2=17 Y
Halve these numbers. L =067
17 06 25 12 16 []+2=077 ¥ o
18 0-44 26 092 17 [ ]x2= 1.4 —0-3—5_—»—01‘75\
19 08 27 18 18 [(]+2=09 0-86 —
20 0-36 28 1.0 03 —
19 [x2=034 0.73 —s
21 052 29 0-82 20 D_:_ 2 = 0-65 098 —
22 0-68 30 16 21 [x2=098 0-57 —
23 14 31 24 — 0125
24 084 32 074 2 []22=059 — S
— 0-895
23 []x2=132 — 0545
24 [(]+2=096 — 0235 |




on this page you will practise do
partitio"i"g to double and halve.

gxamples

pouble 58 = (50 % 2) + (8 x 2) =100 4 16 = 116

palf of 358 = (300 +2) + (50 +2) + (

Half of 13:5 = (13+2)+(05+2) =654 05 — 6-75

A

pouble each number.

44
54
85
47

IV SR IR VORE N

6 66

7 58

8 260
9 470
10 7500

Halve each number.

1 92
12 154
13 66
14 116
15 172

16 148
17: 740
18 1380

119 12600

20 14 800

Double by partitioning.

21 164
22 118
23 176
24 195

25 159
26 187
27 173
28 166

Halve by partitioning.

29 362
30 274
31 358
32 282

33 336
34 318
35 394
36 376

Write the answer only.

1
2
3

i

7
8
9

10
1
12

640 x 2
580 x 2
870 x 2

7300 x 2
4500 x 2
7600 % 2

82 x2
56x2
89 x2

0-95 x2
067 x 2
098 x 2

13

24

920 =2
194 -2
1360 =2
16400 +2
15600 =2
17800 =2
12.8 =2
181 =2
15.7 =2
146 =2
1.23 -2
179 =2

Work out by partitioning.

25
26
27

28
29
30

31
32
33

274 x 2
396 x 2
277 X 2

483 x 2
238 x 2
369 x 2

445 x 2
257 x 2
379 x 2

34
35

36

37
38
39

40
41
42

472 =2
2:-56 -2
83852

364 +2
278 =2
516 -2

432 =2
368 =2
6-94 =2

OO“\J“O\‘U'I =W N

84+2) =150 425 +4 =179

f[c

ubling and halving and learn to use

Copy and complete.

1

10

B pE

.15
116

17
18

19

20

BoR N

24

Dxl:lSSOO
Dx2=18300
Dx2=13700
[Jx2=17400

[(J=2=182
[(J+2=168
[]+2=256
[(J+2=1850
[(Ix2=174
((1x2 =139
{(I1x2=175
[(Ix2=181
[(1+2=1270
[]+2=24%0
[1=2=243
[]+2=176
[(Ix2=117
[Ix2=138
(Ix2=159
[(Ix2=123
[l+=2=237
[J=2=194
[]=2=188
[(1=2=179



On this page you will lear

Examples
e MULTIPLICATION

2
a) Find 13 x 14 13x14:13x7x

=91%x2
=182
b) Find 14 x 15 14 x 10 =140
140 +2= 70
14 x 15 =210
¢) Find 46 x 25 46 x 25 =23 x50
= 1150
e FRACTIONS
Find L of90 1 of 90 =30
1of 90=15
-132— of 90 =75
e MULTIPLES
Some multiples of 22 can be worked out by
doubling.
1ix 22.=22
2x22 =44
4 x22 =88
8 x 22 =176
16 x 22 = 352

These multiples can be used to solve
caleulations.
23 x 22 = (16 x 22} + (8 x 22) — (1 x 22)
=3524-176 — 22
= 352 4154
= 506

13 x 22 = (8 % 22) + {4 x 22) + (1 x 22)
=176 + 88 + 22
=176 4+ 110
= 286

A

1 Make the 16 times-table |
g times-table.

' doubh"g th
§

S
16 tmes g

8 16
16

24
9]
40 80
48
56
64
72
80

e

work out by doubling or halving.
Show the method used.

2 13 x50
16 x 50
18 x 50
23 x 50
48 x 50
37 x 50

N on oew

work out by doubling.
14 1x12= D

2R |
4x12=]]
8x12=[ ]
16><12:D

Use halving to solve.

of 60=D
of 60=D

= A= N

8 8x1s
9 12x1s
10 15 x 15
11 16 x5
12 28 x5
13 34 x5

15 1><13=D

2x18 =[]
4><18=D
8 x18 =[]
16 x18 = ]
17 3 of 30=[]
1 of 30 =[ |
L of 30 =[]



1 Make the 18 times

-table b i
9 times-table. Y douh["”g the

work out by doubling or halving,
show the method used,

2 14 x 17 8 29 x5
3 18 x 28 9 3535
4 16x19 10 47 x 25
5 19x15 11 16 x 75
6 26x15 12 18 x 55
7 33 x 15 13 22 x 45

work out some multiples of 3o by doublin
Use them to work out; 9

14 12 x32 17 11 x 32
15 22 %32 18 25 x 32
16 17 x 32 19 19 x 32

Copy and complete. Use halving to solve the
second and third problems.

20 % of 3 23 1 of 6000

: of 3 1 of 6000

& of 3 L of 6000
21 % of 150 24 1 of 18

2 of 150 1 of 18

L of 150 = of 18
2 1of 42 25 3 of 90

1 of 42 2 of 90

1 of 42 L of 90

Copy and complete.
Use halving to solve the second problem.

26 & of 41 29 & of 3
& of 41 56 of 3

27 & of 290 30 ;5 of 04
35 of 290 - of 0-4

28 35 of 50 31 35 of 1.8
L of SO 55 of 1-8

20

o — ) ) _ - e |
i

@

- Work out by doubling or halving.
| Show the method used.

L1, 3118 7 39x25
L2 043x16 8 57x25

b3 23x14 9 0-46 x25
L4 17 x15 10 19 x 35

4’:*1’

.5 15%63 11 24 x 45
(6 87x15 12 72 x 35

|

- Work out some multiples of 36.
¢ Use them to work out.

(139 x 36 16 21 x 36

Yowas =

14 26 x 36 17 13 x 36
18 28 x 36

f15 15 x 36
fFind one twelfth of each number by halving
one third and halving again.
19 270 21 15 23 45
S’ - it &
£20 06 22 036 24 69

&

25 03
26 51

E

| Find one twentieth of each number by
- halving one tenth.
127 03 29 0.08
2839 307

33 61
34 13

31 29
32. 05

WAV R,

35 Copy and complete these times tables.

HEITY

2 24 48
times-table | times-table | times-table

12 24 48
24
36
48
60
73
84
96
f 108
120 240 480

L TS




dm
On this page you will learn the 9!

7
Examples o 300 90 ﬂ =14382
2397 % 6 X wa
¢ (12000 |
6
S0 120
356 % 24 x 200 ﬂ ’
20 m%” +1424
4 , “gs a4
0| asie
A lete
gnd complete:
Copy and complete. Copy 000 700 50

1x200607

2
X 3
1 -
sC_1_11- )
« 1000 300 60 2
2 x 100 _40 5 2 =

40 2 g3 * 100 20
K
30 ” =
9 o
% 200 70 5
X 60 3 4 "“"|
4 0
20 4 =
, = 6 [ ded ™
6
5, X 50 4 5 % 300 50

n
—~

Use the grid method. Use the grid method.

7 396 x4 7 2950 x7
‘8 283 x6 8 2197 x 9
9 314 x 9 9 4583 x 6
10 527 x 8 10 4168 x 8
11 97 x15 11 282 % 37
12 64 x 24 12 363 x 18
13 36 x 47 13 394 x 29
14 58 x 32 14 672 x 35

THOD'FOR‘

ethod for multiplication.

M

@ “kﬁ?\\

| Copy and complet
B 1 200 0 e_?

T

=

¢ 50
: 3
ﬁiz X 200 40 o
P~ 20
6

i

l

)

5 X

K3 200 50 ¢

400 20 8

200
90
3

|

~ Use the grid method.
L5 5263x7
i

s 6378 x6
% 7 465 %132

i

9 539 x 365

110 613 x 287

[
1

[.
}1:11 In one week 154 factory
workers earn £347

each. What is the total
wage billZ



4()00)(8
200 x 8
70 %X 8
3x3

A

32000
1600
560
24
4184

1

W

copy and complete.

1

2389

2000 X 5
300 x5
80 x5
9 x5

2000 X 7
600 x 7
80 X 7
3Ix7

5000 x 8
400 x 8
70 x 8
6 x 8

X

5

Use Method 1.

1 3968

—_——

Use Method 2.

7 2436
X 5
8 2484
X 6

9 1546
X 8

10 2367

4273 Work from the right and carry.

X

Method 2
oD
34184
28 3
4 1927
8
5 4759
6
6 2679
7
11 3839
__Z
12 3276
__ 6
13 2385
__ 8
14 4809
9

T RS AT

et
o A

@

Use Method 2.

Vi NI A wiN e

[
juy

12

2763 X 6
3879 x 4
2729 x 9
1681 x 8
2675 < 7
4829 x 3
2736 X 7
3547 x 6
2974 X 9
3192 x 6

Each month an
architect earns £2374.
How much does he earn
in 6 months?

4

o

The mean daily
audience at a cinema is
1957. What is the total
sudience for the week? ‘

{



On this page you will

decimals.

Examples
43 x6

4-0 x 6 =240

0'3)( & =

18
228

Make sure that the decimal

A

Copy and complete.

1 B86x%x2

‘2. 3-4x8

‘3 23x%x6

4 69x%x5

(5;35x9

‘6. 42 x7

80x2=]
0-6x2=0]
)
3.0 x8=[]
O-4><8=__E_|_
U
2:0x 6=[]
O-3><6=_E_]_
O
6O S=[]
09x5=[]
]
3.0x9 =[]
05x9=[]
i
40x7=[]
O-2><7=_[J
3

7 A sprinkler uses 5-8
litres of water in one
minute. How much
water does it use in 4

minutes?

kilograms?

3692 x 7
257 % 4 30 x7=20.0 ;
28 wh= &0 06 %7 42
05 xa= 20 009 X7 063
007 x 4= 0% 0:002%x7 001
1028 bosh i,
Beag
points are all in line. 5’"@ .
In each problen: IR B 163 x ¢
a) write down the mugtlpllcatlon. g 3 0247  «
(Example: In Q;)esuon 1 we 3, 59383
b) ’\:li\:'ek oft()::;:h bracket and find the § 4 373 xy
1 to(f-lc-) £ 3) + (09 3) + (0:06 X 3) g;5 8362 x 7
2 (30x6)+ + (02 x 6) + (0-04 x 6) ?é?f* 4-671 x g
3 (7.0x8)+ (02 % 8) + (0-04 x 8) iz 2:945 » 4
4 (60x7)+(05x7) +(0:02x7) 18 7283 %
& (50%9)4 (03%9) +{0-02 X 9 Ko asn ‘s
6 (8:0x5)+(09x5)+ (0-07 x 5) ﬁlo L s
7 (90 x &) + (04 x4+ (006 x4) Bl oo
8 (30x7)+ (0-8 x 7) + (0-05 x 7) 512 7.456 % 9
Set qut as in the examples above.
9 2:48%x7 15 973 %3 53113 231 x 16
10 9-53 % 8 16 395 %7 114 354 x24
11 378 x4 17 7-68 X5 i 15 4.67 x 32
12 054 x 6 18 659 x9 F16 9:65 x £3
13 547 X9 19 389 x 6 '
14 827 x 8 20 6:58 x 8 §17 534 x 45
21 One stone equals 6-35kg. P18 378 %34
Niamh weighs 8 stones. k19 8:57 x 2
How much does she weigh in /20 486 x 63



gx35 20
1610
copy and complete.
1 41
x 13
41 x 10
41 x 3
2 51
x 23
51 x 20
51 x 3 .
3 32
x 13
32 x 10
32 %3 o
4 25
x 15
25 x 10
25 x5
Work out
s 38 x15 8 67 x29
6 45 x 26 9 59 x42
7 83 x37 10 74 x 34

200 x 35
40 x 35
6 x 35

Copy and complete.

& 163
x_16
163 x 10
163 x 6

z 381
x_25
381 x 20
381 x5

3 258
x_38
258 x 30
258 x 8

4 429
x_43
429 x 40
429 x 3

Work out

5 347 %28 8 386 x52
6 439x32 9 468 x26
7 292 x19 10 534 x 3/

e

Copy and complete.

§ 1

T

217
x 124

217 »x 100
217 x 20
217 x 4

—_—

531
x 245

531 x 200
531 x 40
531 x5

Work out

i3
£
€
L6
n

12

284 x 139 7
423 x 256 8
336 x 194 9
528 x 127 10

315 x 259
234 x 167
543 x 293
348 x 326

A book has 184 pages.
The mean number of
words per page is 317.
How many words are
there in the book?

A fitm company hires 426
extras to film crowd
scenes. They are patd
£275 each. What is the

total wage bll?



618 = 22

Examples
231+6 (18 + 221 approximately 600 + 2q whigy,
A i = 6=230 15
pproximate ;ig -‘2 o calculate 618 ¥,
30 and 40- —~220 (10x22)
231 + 6 lies between
398
Calculate 231 ~220 (10 x 22)
— 60 (10 x 6) 178
171 ~110 (5x22)
~120 {20 x 6) 68
51 - 66 (3x22)
—48 (8% ¢) 2
’ Answer 28 remainder 2
Answer 38 remainder 3 @, S
:v\ k k out §W0rk out -
ork out ork o .
1 16+5 ; 7+14 9 6451 BRI JA90=23 £ 7% 705 o
2 110+ 6 = ggoe3 10 WO Y RS 2 567 +15 {2 1066 + 9
; = 956 + 27 L3 e+
3% 170 +7 3 602+24 11 B )t > PN
4 199 =8 Z eeem 1 7a6+45 | R4 ;1000+24 1077 o
¥ 5§19 =
- i 5 900+37 13 581+2 | e Z;o _18 »,(1} 982 +3
6 238+5 ¢ a1 14 830:39 8 +16  {1271066.4y
(7 253+38 7 58 +13 15 630 +26 fé*‘13 .
‘8 261+7 g 64036 16 99933 E‘ ere are 32 screws in g,
; bag. How many bags can b
9 142+ 6 17 A tourist exchanges £46 for  § filled from 1504 screys:
10 193 +9 598 Swedish kroner. How ]
- ? :
11: 171 + 4 many kronor would £1 buy? E‘14 24 identical crates weigh
12 212+ 8 @f& } }“ 864 ko altogether. What s
13 211 =6 /\b)@}—) b the weight of one crate?
14 306 +7 &fﬂ‘ f
15 329 =5 Nl {15 Aaron earns £19656 ina
16 320 =9 = year. How much is he pai
L each week?



on this page you will learn a Standard written method for division.

gHORT DIVISION LONG Division DIVISION OF DECIMALS
32 R4 or 34 77875
6)196 zsj)_g 26) 884 ~70:0 (10 %7)
_18 (3x¢) ) (30 x 26) - 78 (3x26 17:5
16 104 ~14.0 2x7)
_ 12 (2x6) ~104 (4 x 2¢) — 104 (4 x 2¢) 35
4 g 0 — 35 (05x%x7)
Answer = 34 C—)__(-J

Answer = 12-5

A e 1
ih the short
S‘et. gut asxam gt Work out Set out as in the examples.
division examp ' 1 9)43 7 4)50 |1 41019 9 5376+8
§1) 257 =6 By ; )
— 1’2 80028 10 67347
2 6' . 2 8)375 8 32)928 '3 789 =36 11 190-4 =14
206 + L :
7 ot e a4 861+26 12 388816
)37 9 57865 |5 q5:47 13 5152+ 23
5 28+5 N 6 26857 14 999621
7) 3 e =
‘6 3858 483 10 6)1284 "7 41319 15 8802 +27
‘7. 381 +7 & vz '8 5058:+6 16 697319
. )351 11 8)Z04 | :
8 34+9 17 A full bucket of water is
& = poured tnto an empty fish
9 437 +8 17)578 12 7)2247 tank seven times. The tank
10 855 =9 now has 57-96 litres of
11 2017 13 An astronaut weighs water. What is the capacity
< i F
12 664 = 8 76-8 kilograms, On the of the bucket?

Moon he weighs one
sixth of his weight on
Earth. How much does
he weigh on the Moon?

13 Eight sweets weigh
224 grams. What is
the weight of one
sweet?

14 A prize of £162 is
shared by six
winners. How much
should each person
receive?

- 18 Lloyd saves £35 each week.
How long will it take him to
save £840¢




learn:

On these pages you will

: ber output / :
e to recognise a negative num ; m
. - ‘Ei ‘-JE Ix}

Example 4 -6 k
e EEEOEE 7 ecuGa
= ( 2 ‘ L_ a\ﬂ.
t money calculations. L L. {_, ‘;
S — —
62p to £0- -62

e to key in and interpre

Example (248 +62p  Change

Press ED@D@-- = Zk AUSWEF = g3,

e than one Step.

e to carry out calculations involving mor
s first.

Example 6 x (29 +32) Operation in bracket

Press c -@.--B-@H —F 38

e to use the calculator's memory.

Example (32 + 41) x (87 + 48)
e HEEOEEEEEEERER

m [}] —» 9855

e to key in fractions and interpret the decimal answer displayed.

Example 2 rounded to decimal places.

Press [__CJ [2: E’ D [{] ., 02857142 Answer = 0-29, correct to 2 decimal places

Example 3

Press C m 131 [=] — 03333333

This is an example of a recurring decimal.




e a calculator to Work out the problems

Uls e 5, oo +a;§pnr_1:e;;;et the display. i piEos s 16
, 2484 8 £637+98p4 67p 14 £58-90 x 19
3 4572 9 £1147 — 76p _ 84p 15 832+ (28 x 6)
4 33-59 10 £12.00 — 45p — 92p 16 5 x (115 — 6:97)
5 26— 68 1 £345 x 24 17 156 + (274 x 6)
6 38— 79 12 £2.35 x 33 18 8 x (6-4 — 3-9)
Arrange these fractions in order, smallest first,
9i i % 208 2 s nig %
uUse a calculator to work out the problems and interpret the display.
1 2762 7 (€276 + 69p) x 8 13 (92 — 65) x (46 + 87)
2 36—83 8 (£635-87p) x5 14 (66 + 49) x (63 —27)
3 12754 9 (E4-36 — 68p) x 15 15 (84 — 38) x (47 +29)
4 45— 593 10 (€312 —57p) x 4 16 (173 —128) x (94 — 67)
5 314 —975 1 (£36-44 +76p) = 8 17 (64 —38) x (4-7 + 2-9)
s -1 12 (£77-83+ 57p) =16 18 (5-4 —2:9) x (68 + 47)
Arrange these fractions in order, smallest first.
wiE % B 0% 343 2% 82
e J

~ oo

use a calculator to solve these problems.
1 A policeman has £3648-20 in a savings

account at the start of the year. He
makes no withdrawals. His monthly
salary of £1,524 is paid into the account.
How much money is in the account at
the end of the year?

FRRYIN

e
NV

lan has £28-40 in his bank account. He buys 6 shirts costing £15-40 each.
He pays with a cheque. By how much will he be overdrawn?

Write down the fractions which have these decimal equivalents.
[Hint: Try dividing by 3, 6, 7, 9 etc]

a) 01111111 d) 0-3333333 g) 0-1428571 j) 0-090909
b) 0-2222220 e) 01666666 h) 0-4285714 k) 0-181818
¢) 0-7777777 f) 0-8333333 ) 0-8571428 ) 0-5454545



A

Copy and complete by writing

the missing number in the
box.

1 1-68+[]=257

2 345 +[]=563

3 []+143 =439

4 [j+078=211

5 321-[]=168

6 437-[]= 0-94

7 [J—157 =224

8 []—386=449

9 297+[]=532
10 449+ ]=516
11 [ ]-375=0-68
12 [ ]—183=647

Find three consecutive
numbers which add up to:
13 &1 i5 195

14 114 16 222

47 Find three quarters of 26.

18 Danielte earns £5-90 per
hour. How much does
she earn in a week In
which she works for
42 hours?

[:} x 9 = 22-77

2608+ 1= 326

[(]+6= 4-63
Find two consecutive

numbers with 2 product of
9 306 11 1190

10 506 12 2256

13 The temperature 1S
a.7°¢. 1t falls 8-65°C.

what is the new

temperature?
14 What is 28% of £3357

15

The programmes for a
cireus cost 65p.
Programme sales raise
£732.55. How many
programmes are sold?

16 One pound equals 1-4
dollars. Phoebe has
304-15 dollars. How
much is this in pounds
and pence?

15,289 people |
castle in July.
£55.0404O IS rg

the sale of entransed by
tickets. Whay o Ce

of each ticket? € Cogy

The maximum
terpELature Fecorg
In one year in (4,
was 28-4°C. The " On
of the te mperatureh
recorded was 37-632
What was the miy,
temperature? el

The mean weight
children in g class
38 kg. Their total v,

is 1026 kg. How manght
children are there |.n\’
the class?

f the
IS

74% of the electors
voted for the Winhing
candidate. 9100 peqp(e
voted for the other
candidates. How many
people voted for the
winning candidate?

A vertical mine shaft i
328 metres deep. The
entrance to the shaft s
136 metres above sea
level. How far below sea
level is the bottom of
the shelf?



WRITING AFORMUIA — gy

. chis page you will tearn to write and use formulae.

gxamples { :
There are x people on a bus. On€é ha.:f
. b of the passengers get off and 4 PEOP'e
get on. How many passengers (p) are
: on the bus?
_ 21 +2b, where p = perimeter §
4 p==+4
2
A e ‘
find the perimeter {p) of Draw and label the shape In the example above, th¢
h shape. whose perimeter is given b " area (a) of the rectangle 1s
eat 9 Y
a each formula. given by the formula a = tb.
z 1 atriangle (This means [ x b.)
b : p = 3a
a , L1 Write a formula for the
c 2 anirregular pentagon area (a) of the first three
2 | p=3b+2c shapes in Section A.
c ¢ 3 a quadrilateral _ ’ s i
8 )
L p=3d+e 2  Write a formula or
number of:
3 £ 4 an irreqular hexagon a) days (d) in w weeks.
d p=3f+29+h b) months (m) in y years.
c) months (m) ind
. 5 Find the cost of: decades.
4 i a) 10 pens at x pence
each ' 3 write a formula for the
4 b) y sweets at 20 pence nth term of each
" each. sequence.
k . a) 2, 4, 6, 8, 10
6 A car has x litres of petrol ] S, T3 I
3 in its tank. One half is 0) 3, 6, 9, 12,
used on Monday. A ¢ =3, -2, -1, 6, 1
further 2 litres on d) 1, 4, 9, 16, 25
Tuesday. How much e) 05, 1, 1.5, 2, 2:5

petrol is left? 3% 3285 7,9




On this page you will practise finding €x3

statement.

Examples 2. A multiple of 16 is also a multipja

1. When you add two odd numbers, 48 =3 x 16 and 48 =6xg
the answer 1s an even number.

S+11=16 7+3=L0//“’"‘\
L—‘-_‘ 1
A

Find two examples that match these statements times the middle number.
1 The sum of three consecutive numbers 15 three

; the answer.
To multiply a number by 50, multiply by 100 and halve
Dividing a number by 1 leaves the number un

Multiplying a decimal number by 100 moves ever
aight line is 180 degrees.

of 8.

changed.
y digit two places to the left,

The sum of the angles on a str
A multiple of 9 is also a multiple of 3.

The difference between two successive square numbers increases by two each time

NS N AW N

Find three examples that match these statements. P —
1 The sum of four consecutive numbers is double the sum of the middle pair of humpgy

To multiply a number by 25, multiply by 100 and divide the answer by 4.
Dividing a whole number by 0-5 makes the number twice as big.

Muttiplying a decimal number by 1000 moves every digit three places to the left.
The sum of the angles in a triangle is 180 degrees.

A multiple of 12 is also a multiple of 6.

The difference between successive triangular
numbers increases by one each time.

NSO wn AW N

| Find three examples that match these statements.
1 The sum of five consecutive numbers is five times the middle number.

To multiply a number by 15, multiply by 10, halve the answer and add the two parts.

==

TNl BiwW N

Any square number is the sum of two consecutive triangular numbers.
Dividing a number by 01 makes the number ten times as big.

T A ST ST

Dividing a number by 1000 moves every digit three places to the right.
The sum of the angles in a quadrilateral is 360 degrees.
A multiple of 18 is also a multiple of 3.

P



r
pUZZLE ERRl s CROSSNUMBER PUZZLES ——————— %

A

Clues across Clues down
i TN DI Ol 1 4x19 31 8% 9
6 —5 7&# 3 31x4 , 2 542+59
r":T"f gw'l 7‘~ 6 167 +41 ., 4 6x4
L-""‘"'_-"f ‘12 112 ] ‘ il 5 8?_),<S
ol T E 9 116 x10 7 9
N o 12 123 -85 10 9x7
T T N 14 928 + 45 1 24 —33
| 16 530 =10 13 85 x100
18 2004 - 1989 15 300 = 4
19 401 — 299 17 2 x2x2x2x2
B
clues across Clues down
1 41361 1 770 <=2
3 0-68 x 100 2 17x3 T 2] T
5 3x3x3%3 3 80 x8 : ' : i Z
g 2 4 173 -89 j -
7 980 +2 6 0-19 x 100 - -
g 1003 — 985 7 5002 —1n o Z
10 472 +256 8 600=5
11 712 — 618 9 9x49 =
12 4006 — 2994 10 355 =5
,@ e e . =
, Clues across Clues down
g 13 R @Y P 1:31-92 1 38x7
8 7 i 275 +5 2 132
¥ % 25 Te || 6 7001 — 347 350 % 1.9
e 8 0-069 x 1000 5 358 4 178
| [PI BE {14 |15 ?: 188 x 2 7 54-5%x8
- - 11 42253 10 10003 — 2007
: 12 212 11 (366 4 254) =2
14 312 — 215 12 (9 x8) —25
16 30 x 25 13 360 =8
k 17 128 x 50 15 0-37 x 200




On these pages you will learn:

® to choose the operation or operations

needed to solve word problems.

® to decide whether the calculation will

be done mentally or on paper.

® to use all four operations to solve the

problems.

Some of the problems require one operation

only. Some require more than one.

a) Safraz has 128 books. Lucy has 96.
How many do they have altogether?
128 + 96 = 224
They have 224 books altogether.

b) Maurice has 86 postcards.
Libby has 55 more.
How many do they have altogether?
86 + 55 =141
141 + 86 = 227
They have 227 postcards altogether.

® in each section read the problems and
decide

a} what operations are needed.

b) whether the calculation will be done
mentatly or on paper.

Then solve the problems.

10

Abigail is driving 245 mijlec. She
petrol after 87 miles. How p,,
does she have to drive?

Sto

ch fu Ps fy

r
Fthe,

Connor buys a house for £93 500

he sells it he makes a profit of £9‘Oo en
what is the selling price? 0.
Raoul is one eighth the age of hia
grandmother. His grandmothey is 7
How old is Raoul? :
Six racks of CDs each containeq ¢
How many CDs were there?

A cricket team scored 311 in the first
innings of a match and 132 feye, :
second innings. How many digd tha
score in both innings?

How many hours are there in three
weeks?

8 ¢y,

D the
team

. There were 143 skaters on an ice rink

During the next half hour 57 people
started skating and 69 people stopped,
How many skaters were there noy on
the rink?

One quarter of the 128 people on 4
school trip were adults.

How many were children?

A greengrocer has seven boxes each
containing 40 red apples. He also has
five boxes of green apples. There are
400 apples altogether. How many green
apples are there in each box?

36 children were asked what was their
favourite day of the week. One third
chose Saturday and one quarter chose
Sunday. How many chose a weekday?



10

There were 216 people gn th
98 more people went gn the
63 left. How many were ther
the pier?

A large store had 288 skirts o, display
equally divided between 1g rails. '
How many skirts were gn each raily

In June the average daily audj
cinema Was 240. How many People
watched films at the Cinema during e
month?

The Matterhorn is 4428 high.
owen 1s 939 m below the SUmmi
mountain. How high is Owen?
Niamh types at 60 wordg
How long will it take hey
words?

Katharine won a race in a time of 13.86
seconds. Nicola was twg tenths of 4
second slower. What was Nicola's time?

€ pier,
piler While
€ now on

€Nce at g

t of the

Per minute.
to type 3000

How many seconds are there in 12
hours?

An ice cream van has seven packets
each containing 60 chocolate flakes.
During the day 163 are used.

How many flakes are left?

A display of flowers has three red
flowers to every two white flowers.
There are 32 white flowers.

How many red flowers are there?

Of the 60 children in Year 6 two fifths
had brown hair and three tenths had

fair hair. How many of the children had
hair of a different colour?

o1

S e T

10

o
=

The River Nile 1s 6669 km fong.

The Yangtze-Kiang is 680 km shorter.
How long is the Yangtze-Kiang? |
The perimeter of a square playground 1S
120 m. What is the area of the
playground?

Ashley won a race in 57.92 seconds.
Adam was 48 hundredths of a second

slower. Robert was seven tenths of a
second behind Adam.

What was Robert's time? |
The average attendance at Arsenal’s 25
away matches was 32 280.

How many spectators watched Arsenal
away from home that season?

In the Mars General Election the
Independence Party polled 7237 468
votes. 485 624 fewer Martians voted for
the Inter Planetary Union Party.

How many votes did the Inter Planetary
Union Party poll?

How many hours are there in a leap
year?

A sandwich bar makes 540 ham
sandwiches every day. One packet of
ham makes 15 sandwiches. How many
packets does the sandwich bar heed?
A theme park had 443300 visitors in
July. What was the average number of
visitors per day?

Freda Frog had 50 tadpoles. All of
Freda's children also had 50 tadpoles.

Allof Freda’s grandchildren also had 50
tadpoles. How many great

grandchildren does Freda have?
Two ninths of the 180 children in a
school come by car. Five twelfths of the

children walk. How many children travel
to school ih other ways?



On this pége ' will solv proble

- DIXONS - PRICE LIST .\
Hi-Fi v Persong| Stere ;
£124 £140 £35 o :
1'
|
Roll of film {
£4-20
Mouse Pad Printer Game oy
£3-50 £85 _ £6a
Alarm Clock Mobile Phone
£14-99 . |
Audio Tapes Batteries Video Ties

12 for £3-60 & for £4-50 8 for g1t

— ]

A

Work out the cost of each purchase
1 a camera and 10 rolls of film

2 a hi-fi and 36 audio tapes
3 2 mobile phones and 24 batteries
4. a TV and 16 video tapes

5. a printer and 3 mouse pads

and the change from £200.

(6 = Find the cost of:

a) 1 video tape b) 1 battery c) 1 audio tape

How many rolls of fitm could be bought for £100?

How many hi-fis could be bought for £10007

You buy a camera, an alarm clock and a computer game for £146-49. How mu

®

ch is the

computer game?
10 You buy a mobile phone and one other item for £158. What is the other item?

in a sale all the prices are reduced by 10%. Find the cost of:
a) the TV c) the Gameboy

b) the mouse pad d) the camera



B
!‘:i):‘ld ¢he value of these sales,

; 3 cameras and 20 rolls of film

= 5 hi-fis, a personal stereg and 18 batter; ; m
, ies h
3 ATV, 3 mobile phone ang g, alarm eloek /’
me Boys, a printe | )
= 4o - Zter p Fand 4 moyge bads g
. 6 person eos, 2 Cameras, ap alarm clock anq | !’—r. \
: At 60 audio tapes

a) 3 video tapes b) 5 batterieg

"9 the pounds to the foreign currencies.

UK (pounds) | Europe (Euro) | A i " Carels o
| Ue P ustralig (dollar) Canada (dollar)

1.6
2.
T £10-00 - =2
£15-00 —
£50.00 e

i@

find the value of these sales,
1 5cameras, an alarm clock ang 100 rolls of film

’;*’2” 6 TVs, a personal stereo and 40 video tapes

;§ 7 hi-fis and 96 audio tapes

_‘}4 12 Game Boys, 4 alarm clocks and 1¢ mouse pads
8 mobile phones, 4 printers and 90 batteries

)

I

6 How many rolls of film could you buy for £5002
;7 How many personal stereos could be bought for £1000?

'8 3TVs, 24 video tapes and a computer game are bought for £491.
' How much is the computer game?

§’9 Copy and complete the table by converting the pounds to the foreign currencies.

UK (pounds) | Brazil (real) U.S.A. (dollar) India (rupee)
£1-00 2:84 1-45 69:3
£10-00
£25-00
£500-00

’.‘ 10 Using the table above, convert:
a) 145 dollars into pounds b) 69300 rupees into dollars.



On these pages you will learn:

} ; ric
® to use the relationship between met

units of length.

10 mm = 1cm 100cm =1m
Smm = 0-5cm 50cm =05mMm
1mm=01lcm 10cm = 0-1m
1mm = 0-001m 1cm = 0-01m

1000 m = 1km
500 m = 0-5km
100 m = 0-1km
10 m = 0-01km
1m = 0-001km

Examples
C4m= D cm

4380 m = D km

Answer 40cm
Answer 0-016 m
Answer 4-380km

e to suggest suitable units to measure
lengths.

If the length is less than 1cm use millimetres.
If the length is less than 1 m use centimetres.

If the length is less than 1km use metres.

We would use millimetres to measure the
length of a ladybird.

copy and complete by writing the
number in the box. 'SS'hg

2000m =[_|km (7 lem\Q

3500 m =

2

30 25km=[_]m

4 7-400km =[_|m 10 16mm _ D

5 290cm=[:]m 1 9cm\DQO
m

6

Suggest a suitable metric unit to Measyy,

these lengths.
13 a charity walk

14 a necklace

15 a wood lice

16 the height of the classroom
117 a spoon

18 a cross-Channel swim

Think of three more things you would
measure using:

119 millimetres 21 metres

20 centimetres 22 kilometres

write the longest length from each pair.
23 1.8cm 8 mm 26 90m O1km

24 02ecm O-0lm 27 3-3cm 50mm
25 6-23m 623mm 28 370m 0-04km



(B

copy and complete.
g 392m= [_Jkm
2756m =[_]km
1-437 km = D m
0-026 km = D m
240cm = |m
gem=[_]m
0-48m=[_Jem
13.96m =[_|cm

g 2mm=[ ]m

j0 68smm=[_|m

1 0:007m=[Tmm
12 6937m=[_]mm
suggest 3 suitable metric unit ¢

measure these lengths.
43 atic tac

0 NN RwWwN

14 the length of the River Amazon
15 a watch strap

16 the perimeter of a playground
17 afelttip

18 a ski jump QX‘

Think of four more
things you would measure using:
19 milimetres

20 centimetres

21 metres

22 kilometres

Copy and complete by putting >, < or

= in the box.
23 8417mm [ ] 8417m

24 31em [ ] 0-231m

25 7m [ ] 0-007 km

26 2460cm [ ] 0-024 km
27 5000mm [ ] 0-05km
28 200mm | | 0-02m

r

C———— ”
: éa o
OPY ang
\ And com
; e plete the tables.
L 3
i
. 2
! m ]
3081 _, 55 20
-~ O'OOS — 0-3
— 3.009 L — 17

COD‘/ and com

plete each sen i :
the best ssiin, tence by choosing

ate.

S -
The height of Mount Everest is (0-89 km,
8-9km, 0089 km).

The thickness of an exercise book is
(0-5cm, 0-05¢m, 0.05 m).

A bed is (200 mm, 2000 mm, 20 000 mm)
long.

The length of a pair of scissors is (013 m,
0-013 m, 13 mm)

A chair leg is (0-003m, 0-03m, 0-3m) in
length.

10 The length of a golf drive is (028 km,
0-028 km, 28 km).

Arrange these lengths in ascending order.
" 11 5005 mm, 5-5m, 555 cm, 0-005 km

| 12 2700 m, 2227 km, 0-772 km, 77 000 cm
' 13 0-8308 m, 888 mm, 88 cm, 0-008 km
114 334cm, 3-4m, 0-033km, 3334 mm



On this page

A
1

Janice buys 8 shelves.
Each shelf 1s 75 cm long.
How many metres of
shelving does this
provide?

A square field has a
perimeter of 3-6 km.
What is the length of one
side 1n metres?

Six equal lengths are cut
from 2 m of string. 20cm
is left over. How long are
the lengths of string?

Jonathan walks for

2-6 km. He rests and then

walks a further 1400 m.
How far does he walk
altogether in kilometres?

At midday a shadow is
42 cm long. At 6p.m. 1t is
eight times longer.

How long is the shadow
at 6 p.m. in metres?

A mountain peak is

4-26 km above sea level.
A climber is 549 m below
the summit.

How high above sea level
is the climber?

swims 4 km
ol is

George
every day. The PO

som in length.
How many (engt
he swim in 0

hs does
ne week?

Seema cut 68 cm from
2 m of string. She then
cut a further 35cm.
How much string is
left?

A rectangular field is
1586 m long and 234 m
wide. How long is the
fence around it in
kilometres?

A car travels 25 m every
second. How far does it
travel in kilometres in
five minutes?

A carpenter needs
sixteen 40 cm lengths
of wood. How many
metres of wood does he
heed to order?

In June a plant grew 1.5
metres. On average
how much did 1t grow
each day? Give your
answer in millimetres.

you will learn to S

e

L

EMs

i1 A row of treeg o

apart. The row Fe 40"’0
3km. How many trs for
are there in the rOEES
The average Widthwg
Simon’s papeerCk°
books is 16 mm

How many Metreg of
shelving does he e
to store his 275 booke
A garage entrance ‘SS‘
2:1m wide. The cq, is
1-64 m wide.

How many centimetres
are there betweenp ea
wall and the car? £
An energetic slug Slies
125 cm every hoyr.
How long would it take
the slug to travel Ohe
kilometre?

A roll of kitchen towels
Is 9-68 m long. Each
towel is 22 em long.
How many towels are
there in each roll2

A parachutist falls
seven ninths of the
distance to the ground
before opening her
parachute at 750m
above ground level.
How high was the plane
flying when she
jumped?

eed
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kilograms and tonnes.

1000g = 1kg

A

Copy and complete by
writing the missing
number in the box.

1 4kg=[]o

2 25kg=[]g
3 34kg=[]og
4 017kg=[_]9
5 3100g=[Jkg
6 2250g=[ |kg
7 300g=[]kg
8 57409 =[_]kg
9 175kg=[19g

10 592kg =[1g

11 8000g =[]kg

12 16009 =[ kg
Write down which metric
unit you would use to
measure the mass of:
13 a bus

14 an ear ring

15 a jumbo jet

16 a slice of bread
17 a sack of coal
18 a teacher.

- METRI

On this page you will learn to US

1000 kg = 1tonne (9
13
- lete by

copy and comp ‘
writing the missing
number in the boX.
1 13ka ==[:]9
425kg =19
6148kg =19
3.7kg =19
15939 =[1k9
8009 =[1k9
27609 = [ k9
259 =[] ka
9 2t=[lko
10 1-64t=[_1ko
11 1150kg =[]t
12 290kg =[]t

0 N O A WN

Write down which

metric unit you would

use to measure the

mass of:
13 a sparrow

14 a dining table
15 a bowl of fruit
16 an elephant
17 a lorry

18 aCD

19 a bed

20 a pear.

e

C MEASURES =

measures of Mass, gramg

copy and complete the tables.

L]

- ¥
2486 —

5 —
120 =

600 —
— 3-475

— 0-025

— 1-84
[ ey

2

kg

Ve

1008
17 -
3200 —,
~ 45
~ 19g3

—— =2 00g

_ copy and complete each sentepy,
by choosing the best estimate,

. 3 A paperback book has a maq,
of about {0-001 kg, 0-01 kg

0-1 k9.

4 Many ice hockey players weigh
' about (O-1t, 0-01t, 0-001+t).

5 A radio cassette player weighs
about (30 g, 300 g, 3000 g).

6 Marsha is 10. She has a mass of
about {0-4 kg, 4 kg, 40 kg).

| 7 A shoe has a mass of about
(0-03 kg, 0-3kg, 3kg).

8 A small car has a mass of about

(1t, 10t, 1004).



A rhe mean weight of the

1

>

) 5 spples in bag is
9. what is the total
eight of apples in

kilograms?

Six identical eggs weigh
0-48 k4 altogether.
How much does each egg

weigh in grams?

Samson lI&S 0-31t.
Hercules lifts 43 kg less.
How much does Hercules

(i in kilograms?

. An orange weighs 200 g.
How much do 15 oranges
weigh in Kilograms?

A box of 50 chocolate
bars weighs 10 kg.
How much does each
chocolate bar weigh in
grams?

A bar of soap weighs
0-2kg. 120 g are used.
How much soap is left?

1 150 oyg ot

1

bes we;
s gh
0.9 kg. What does gne

Oxo0 cube weigh in
gramsz?

Mrs. Gregg receives
twg Parcels. Ope
Weighs 330 9. The other
IS twice g¢ heavy,

What IS theijr combined
weight in kilograms?

A loaf of bread weighs
one Kilogram.

It contains 25 slices.
What does each slice
weigh in grams?

4 A shelf has 46

Paperback books, each
weighing 200 g.

How much weight is the
shelf Supporting?

5 4 identical cOhtainers

are loaded onto 1 lorry.
Their combined weight
IS 2:74 t. What is the
weight of each
container in kilograms?

6 A ship has 4.2 tonnes

of cargo in the hold.
1368 kg is removed.
How much cargo is left?

1

1 The total weight of a

rugby team is 1-35 t.
What is the mean
weight of the 15 players
in the team?

A Weetabix weighs 25 g.
A large box contains 72
biscuits. How much
does the box weigh in
kilograms?

A dtnosaur was
concerned about his
welght of 52-4 tonnes.
He began to work out
at the jurassic Gym.
Three months later he
had lost 2763 kg. What
did he weigh now?

A plane weighs 60-87
tonnes. 1679 kg of
cargo is loaded.

How much does the
plane weigh now?

Each tea bag contains
2-5 g of tea. How many
tea bags can be made
from 4 kg of tea?

The mean weight of the
196 passengers on a
plane is 68 kg.

What is their total
welight in tonnes?



On this page you will lear
centilitres and mithiitres. il = LJ00¢l = 10tre
1oml = 1¢cl . e
13 copy and complete the
A copy and complete oy 1 [m e ta?‘f,‘\
Copy and complete by he missing ML IS . N T
writing the missing number writing the he boX. 1284 — B
number 1N e 7 317 — i
in the box. —[Jml =
1 7ltres =[Jml 1 12sltres T 6200 — .
2 3.681Ltres =[] ml 2 DAl =[] mi 5 — — ‘
3 2.930 litres =[] ml 3 4.58Utres = = { — 149 — '
4 0500 litres =[] ml 4 29Utres = ] : 7(; —
5 1800 ml =[_]Utres s 1470ml= []litres —» 200 —
6 750ml=/["]ltres 5 680ml= []litres — — 0.2
7 3100 ml =[_]litres , 2300ml= []litres = — 3.7
8 600ml=/[_]litres g 9070 il D litres : —y ;‘918
\'OOﬂ

9 65 litres =[_]ml
10 1-8litres =[_jml
11 2250 ml =[] litres
12 480 ml=[_]litres

write dowh which metric

g 70cl=[]litres
10 0-5 litres = ] el

11 15cl =[] ml
12 200mi=[]cl

copy and complete each
sentence by choosing the best
estimate.

2

An ink cartridge Containg
(2 el, 20 cl, 200 cl) of ink

unit you would use to . .
measure the capacity of: write down which metric 3 A tablespoon has a capag;
13 a watering can unit you would use to of (0-001{, 0-011, 0-1) o
measure the capacity of: )
13 a syringe 4 A vase has a capacity of
{6 ml, 60 m{, 600 ml).
g
f%@ 5 A glass can hold (30 ml,
i 300 ml, 3000 ml} of drink.
D
™ 14 an orange carton 6 A cereal bowl has a
15 a horse trough capacity of (45cl, 450 ¢,
14 a beer barrel 16 a can of bicycle oil 4500 cl).
15 a medicine bottle 17 an eyedrop 7 A bucket has a capacity of
16 a teardrop 18 a jacuzzi (0-05(, 0-5(, 51).
19 a sack of compost 8 An ice cream scoop has a

17 a can of cola
18 a toilet cistern.

20 a champagne bottle.

capacity of {8 ml, 8cl, 81).



ottle of medicine
(ains 0-15 L. Paige
20 ml every day.
many bottles will
eed 1N June?

AL

rakes
How
she "

fish bowl contains 4.2
litres of water. 360 mlis
gpilt. HOW much water
does the bowl hold now?

A sachet of shampoo
contains 250 ml. There
are twelve sachets in a
pox. How many litres of
champoo are there in the

box?

A test tube holds O-1
" litres of a liguid. 38 mlis
added. How much liquid
is there in the test tube?

26 ml of cycle oil is used

- from a 200 ml can. A

further 47 ml is used.
How much oil is left?

How many 80 ml scoops
of ice cream can be
taken from a 2 litre tub?

Elght 350 mil beakers
are filled from 1 full
4-5 litre flask of tea.

How much teg Is left in
the flask?

A paddling pool
contains 66-3 litres of
water. 60 cl evaporates.
How much water is lefi?

Darren fills a bath with
226 litres of hot water
and 8-7 litres of cold
water. He spills 4 ¢l
getting in. How much
water is left in the
bath?

How many 20 cl cartons
of milk can be filled
from a 10 litre churn?

There are 12 bottles of
wine in a box. Each
bottle contains 70 cl.
How much wine is
there altogether in
litres?

A petrol pump delivers
400 ml of petrol every
second. How much
petrol will it deliver in
ohe minute?

e

L1

\
"

L

L6

A punch bowl contans
1.7 litres of drink. 70 cl
of lemonade is added.
The drink 1s shared
among eight people.
How much do they each
have in mililitres?
A chemist makes 60 of
perfume. How many
150 ml bottles can be
flled with the perfume?
A fireman’s hose Uuses
80 cl of water every
second. How many
litres of water does it
use in 5 minutes?

..

I

A horse trough holds
12-34 litres of water.
Dobbin drinks 70 el.
Beauty drinks 875 ml.
How much water is left?
A saucepan contains
1-6! of boiling water.
137 ml evaporates

before 25 cl is added.
How much water 1S
there now in the
saucepan?

A bottle of soy sauce
contains 150 ml. How
much soy sauce is
needed to fill 48 bottles.
Give your answer in
litres.




On this page you will lear
imperial units.

THE METRIC MEASURES

The metric system of measures Was
invented in France in the C18th. All G
units in the metric system are In tens:
hundreds or thousands.

THE IMPERIAL SYSTEM

The imperial system of measures
developed in Britain. Towards the end
of the C20th it was officially 'ePla‘FEd
by the metric system, which is easier t0
use. However, many imperial measures
are still in common use.

This table shows the most commonly
used imperial units for length, mass and
capacity, and their metric equivalents.
(The sign " means “is approximately
equal to”.)

LENGTH
linch ~2.5¢cm
1foot ~30cm
lyard =~ 90cm
Imile ~ 1-6 km
8km =~ S miles

MASS
lounce ~30¢g
1kg =2 2-2 pounds

CAPACITY
1pint &~ 0-6litres
1gallon =~ 4.5 (jtres

,

n to use the ’

copy and complete

2 inches =

3feet =[_Jcm
~ 5ounces & [ o

10 pints &[] litres
2 gallons =~ [ ]litres
10 miles =[] km
2 yards ~ [:l em
6-6 pounds = Ej kg
15¢cm =[] inches
10 45 litres ~ [ ]oallons
40 km ~[__| miles
9m~[ |yards
10kg ~[ | pounds
14 1m50cm ~[ |feet
15 2-4litres =[] pints
16 2409 ~[ Jounces
State which imperial unit your would yse to
measure the following.

Lengths
17 a motorway 19 a finger

8 a cricket pitch 20 a chair leg

cm

VW ONOWM R W N a

BRE

Masses
21 eight apples 23 a bag of sugar

22 an eqg 24 aCD

Capacities

25 ajug 27 a washing up bowl

26 a swimming pool 28 a bath




] l -
'S}
@

con
W\‘ 15 pounds D 6 kg

s feet D 1m 90 cm
6mites D 12 km
Souﬂces D 225 g
ggallons [] 2stitres
gyafds [j Al
gfeet!_—j 2m 60cm

upounds D 5kg
ggallons [_| 42litres
12 oUNces []3709
11 miles D 20 km

;3 5pints [ ]25litres
14 4inches [ J11em
/5 8piNts [ ] 4litres
;6 100yards [ [ 95m

copy and complete e"f“:h sentence by

choosing the best estimate.

17 Atin of beans has a mass of about

(1 ounce, 11 ounces, 100 ounces).

A bed is about (4 feet, 6 feet, 8 feet)

tong.

19 A pen is about (6 inches, 9 inches,
12 inches) long.

20 The distance from London to

N NN B W

-
o

R R

18

Manchester is about (2 miles, 20 miles,

200 miles).

21 A can of cola holds about (3 pint,
2 pints, 12 pints).

2 A football pitch is about (1 yard,
10 yards, 100 yards) long.

B An egg has a mass of about (3 ounce,

2 ounces, 12 ounces).

24 A car’s petrol tank holds -
550,
about (1 gallon, &* >
10 gallons, 100 gallons).

4nd complete by putting ~ ¢, % im g

| e
! !

-
——

Copy ang com
Ox,

o T T
fd

'_‘~O OO;'\J:\'vU\{U'l & wiNg

S T IR SR TS

18
119

120

e

=

plete by putting > or < n the

[

L 14km
17 ounces [Jos kg

0
3
v

7 yards E 65m

8 gallons ] 35 litres

1 incheg D 29¢cm
18 pounds [ g kg

—_J

L miles [ 20 km
IS yards {: 14 m

14 feet D 41m

> inches [ J12em
4pints [ 22 litres
12 gallons [ ] 55Utres
Lfeet [ ]3.5m
LRpints [ ] 7.5 litres
27ounces [ | 0-8kgq
80 miles [ ] 130 km

To the nearest litre, how many litres
are there in:

a) 2 gallons
b) 21 gallons

¢) 13 gallons
d) 33 gallons?

Sy

p Lok
B e
£t e ‘&‘i

,,_,“__':_-T\_!.;(;E/

{\‘\\s';:s}
To the nearest tenth of 3 gallon, how
many gallons are there in:
a) 9 litres c) 14 litres
b) S litres d} 18 litres?
To the nearest pound, how many
pounds are there in:
a) 100 kg ¢} Skg
b) 14kg d} 26 kg?
Rewrite the sentences in Section B,
changing the chosen measurement to
the approximate metric equivalent.



EA AN[)'ZPERIMETER

On these pages you will learn:

of composite shapes that can be split —

7 | imeter
e to calculate the area and the perimete
rectangles.
e Area of whole shape = Area of A+ Area of ;s
(10 X4)Cm Er (6><4)
B = 40 cm? + 24 cm? = 6.y,
10:em 6cm
------ ] 4em~+6cm+ 6
" 4em perimeter = 10 cm +10¢cm + o +4cm
e = 40cm
e to calculate the area of a right-angled triangle.
Example Think of the triangle as half of a rectangle.
2 2
Area of rectangle = (5 x 4) cm? =20cm
o Area of triangle = 20 em? =2 =10cm?
Scm
T

A

Work out the perimeters of each of these shapes. .
1 square sides12cm ¢3! regular octagon sides 7cm

2 regular hexagon sides 5¢cm 4 equilateral triangle  stdes 15cm

/5. Copy and complete this table showing the measurements of rectangles.

Length 9cm 8cm 6cm 12em 6cm 8cm
Breadth 7em 3cm

Perimeter 26cm 34 cm
Area 12cem? | 60cm?

6 A rectanqgular playground is 25 metres wide. It has an area of 1000 m”.
How long is the playground?

(7. Use 1em? squared paper. Draw three different rectangles each with an area of 36 cm®.
Work out the perimeters.

2 .
8 Use 1cm” squared paper. Draw three different rectangles each with a perimeter of 36cm.
Work out the areas.



x 8s

B ongth of these shapes are in ¢\, For

. - tor e
;wthe area b) the perimete. 2ch shape Work out.
; :

2 6
1 . 3 8
5 gl T 4
3 2 5
_ 10 5
2 5 4 3
» squafe‘j paper to draw the triangles. N

ch triangle draw the other ha|f
out the area of: a) each re

For 83

oF a rectange.
wol’k

Ctangl,
qle b) each triangle

S 6 > 7
8 14
] ;
g 7 12
SRR 5

g How many square millimetres are there N a square metre?
etre?

2
m~ squared paper.
10 Uselcm’ sq Paper. Draw as many shapes with an area of 2 em? as you can

A
e '
‘The lengths of these shapes are in em. For each shape work out:
') the area b) the perimeter. '
a b 8
1 i 3 3 4 4
3 ] a4 2
Zr__ﬁ 9 3 n 10 3
g = a 3 i 7
4
5 3
10 3

_“:_9 A room ts 5 metres long by 3 metres wide. It costs £285 to carpet the room.
How much does the carpet cost per square metre?

Llo Use 1em?® squared paper. Draw as many shapes with an area of 3em? as you can.



On these p;iges you will tearn to use the vocabulary relategd 0 iy
e,

You should know and be able to Us¢ these facts and this rhyme,
| 1 millenrmium = 1000 years
1century = 100 years 30 days has September,
1 year = 12 months April, June and November.
= 52 weeks All the rest have 31,
1 week = 7 days gqve for February alone,
1 day = 24 hours which has but 28 days clear
1 hour = 60 minutes And 29 in each leap year.'
1 minute = 60 seconds
A
Write as
minutes E
1 7 hours ‘5. 6 years 9 60 months
2 33 hours 6 21 days 10 13 weeks
3 360 seconds 7 140 days 11 19 decades
4 75 seconds '8 20 years 12 2 millennia

13 What will be the date two weeks after:
a) 24th june b) 19th March ¢) 27th May d) 30th October?

Look at the calendar for August.
On what day of the week do these birthdays fall?
14 Andrea - August 8th AUGUST
Su M Tu W Th F Sa
1 2 3 4 5 6
16 Vicky - july 26th 2 8 9 1011 2 B
14 15 16 17 18 19 20
21 2 23 24 25 26 V¥
28 29 30 31 R

=eem)

15 Joshua - August 19th

17 Tyrone - September 15th

18 On what day of the week is the 1st of September?
Write out the calendar for September.

19 Gregory’s birthday is three weeks after Christmas Day?
What is the date of his birthday?

20 March 1st is a Wednesday. How many Saturdays are there in April?



®

writé QS-@
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[ony

}'2' what will be the date five weeks before:

14 hours

5 1

1 Years
2 25 seconds X decades
. ek 12 days

1 .
s IV 8 840 hoyy.
3 what “’:& be thebdate five weeks after-

a) 6th May ) 13th November

¢) 28
Look 3t the calendar for December. ) 28th June
on what day of the week do these dates fayz
14 gpiphany - January 6th 2005 w5

15 remembrance Day - Novempe, 1ith 2004
16 Hallowe’en - October 31st 2004

g7 St Valentine’s Day - February 144 500s

48 Write out the calendar for March 2005

write True or False for each of the o
a) 40 years is longer than 15 000 days.

p) There are less than 1000 hours in 6 weeks
¢) Five hours is less than 20 000 seconds.
d) One million minutes is more than two years.
e) There are never enough minutes in 3 day.

>

a) 12th March 2008

c) 6th June
b) 24th October

Look at the calendar for April 2005,
On what day of the week do these dates fall?
_ St. Patrick’s Day - March 17th

The longest day - june 21st
New Year's Day - January 1st, 2005
Christmas Day - December 25th

Write out the calendar for April 2006.

d) 1st December?

9 371 decades
10 3% millennia
11 416 weeks
2 66 months

d) 30th July?

5

OWiNng statements.

DECEMBER 2004

6

1 2 3 4
7 8 9 10 11

12 13 14 15 16 17 18
19 20 21 22 23 24 25

26 27 28 29 30

APRIL 2005

Su

10
17
24

M

11
18
25

Tu W Th F Sa
1. 2
5 6 7 8 9
12 13 14 15 16
19 20 21 22 23
26 27 28 29 30
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On this page yru will learn to understa

mes are different aroung N
e

24 hours, t!
ondon {Greenwich Megp,
Tlme}

he time 1N L

= -
Because the Earth rotates on its axis oNnce every
eent

world. The table shows the differences betw

and the times in other cities around the world. |
; Time D; f
City Time Difference city " D'ﬁcerenﬂe |
e +1 Jerusalen i |
Bews Yok -5 Buenos Alres -3
Karach +5 Hong Kong +8
Mexico Crey -6 Los Angeles
Tokn sydney
b "
it is 12-00 (noon) in London?

What time is it in each of the cities in the table if

2
18
e if the time in London is:

Write down the time in each of the cities in the tabl
a) 04:00 b) 22:00.

1 An international company is based in London. It needs to contact its Head Offices in each
of the cities in the above table when it is 09:00 in that city-
At what time would each telephone call need to be made from London?

ble showing arrival and departure times of international airline

| 2 Copy and complete the ta

flights from London. _
Depart Flight (Hours) Arrive [ Local Time
16:00 2 | Rome
15:00 6 New York
18:00 8 Karachi
09:00 11 Mexico City
17:00 13 Tokyo
, 4 Jerusalem 16:00
13 Buenos Aires 15:00
- 14 Hong Kong 10:00
12 Los Angeles 18:00 ]
22 Sydney 08:00 J
ke



A ece started painting his room 4
Re ow long was he Painting?

3 At what time did it end?

t 08:30 H
ol 1
FO( h ﬁnlShed at 1510.

poat {eft Portsmouth at 14.40 It

3 :ow long did the voyage take?

The ¢

arrive
rived a¢ Cherbourg at 22:20

oncert began at 19:45. ¢ lasted £
Or 2 hours 40 i
Minutes.

an athlete began running a marathey, 4

t10: ;
< cor how long was he running? 1015, e finished the race at 13:50.

for eight and a half
asoﬂ SlEPt ) a hOUrS_ H
5 iﬂ\t what time did he 9o to sleep? € woke up at 0710,
2
Lamb must be cooked for 30 minutes for every pound
write down how long the meat needs to pe angiked !

it widinhs:
1 3 2 20 gl

3 2Slb

4 S-5lb.
5 copy and complete the table showing cookinhg times for lamb

.
(S

A

weight Start Finish |
310 11:00

m 15:30
2.51b 12:50

Ss5lo 16:40

L3

' chicken must be cooked for 20 minutes and then 40 minutes for every kilogram.

'write down how long a chicken needs to be cooked if it weighs:
‘- 3 1-25kg 4 275kg.

s Copy and complete the table showing cooking times for chicken.

weight Start Finish
1-5kg 11:45

—— —
2-25Kg 15:35
175 kg 12:30
3-25 kg 18:30




On these pages you will learn:

. to | ‘ ines. -
e to recognise parallel and perpendicular lin N
v Une me
Para"e{ lmes are hnes that are the Perpend!CUlal’ et at
» right angles.

same distance apart for all their length.

‘

i

|

Railway lines are parallel lines. ‘
s }

ctions.

® to recognise intersecting lines and interse
Ines.

Two lines that cross each other are called intersecting {
The point at which they cross is an intersection.

A

[ Point A is the intersection of the diagonals of the rectangle.

1 Use squared paper. Copy each of the letters above in a 3 x 4 grid. Show all the parallel
lines with arrows or coloured pens or pencils, using a different colour for each pair of
parallel lines in a letter. Show all the perpendicular lines by marking right angles.

Draw round a regular pentagon template (or trace the diagram).
Draw on all the diagonals. How many intersections are there?

3 Investigate the diagonals of irregular pentagons.
Do you always get the same number of intersections?



{ @ ) quadr.j[ateral has one pair of
f

b Tt lnes 8nd 40 Peirs of perpendicuty

rids on squared or dotty paper.
Jse 3 xmaﬂV different quadri(aterals as you can
find % ne paralel ines with arrows ang s o 4
Showejdicular lines by marking a right angle, ¢
pefP

W round a regular hexagon template

_ {or trac i
2 Oraw on all the diagonals. How many int ¢ the Siagram)

ersections are there?

mveSfigate the diagonals of irreqular hexagons
Do you get the same result? )

o PR WIS T m———

v,;,{y—r—f""’ 3 . " i
” : — ‘ |

I you join 2 points to 2 boints
You get ohe intersection,

L)

e

=

R
F3

If you join 2 points to 3 points
YOu get three intersections.

e 15

rmvestigate }'OW”Q 2 points to 2, 3, 4'_ 5, etc. points. Record your results in a table.
predict how many Intersections you would get if you joined 2 points to 12 points.

’ yse it to

/5" This pentagon has been drawn in a 3 x 3 grid. It has one pair

2 8 :
7 of parallel lines and one pair of perpendicular lines.

ey

|yse 3 x 3 grids on squared or dotty paper.
| ind as many different polygons with more than four sides as you can.

{identify all the parallel lines with arrows and show all the perpendicular
fines by marking a right angle.

can you find shapes with:
o b1 c) 2 d) 3 pairs of parallel lines?

can you find shapes with:
9 0 b) 1 c) 2 d) 3 e) 4 f) 5 9) 6 perpendicular lines?

Copy the diagram. .
a) Draw a line through C which is perpendicular to AB.

b) Draw a line through D which is perpendicutar to AB. £
¢} Draw a line through C which is parallel to AB. D

e
i W



2-D shapes with straight lines are called poly

in the examples:

equal lines are shown with dashes-

equal angles are marked.

paralle! lines are shown with arrows.

A three sided polygon is @ triangle.

A

right-angled triangle

scalene triangie

A four-sided polygon is a quadrilateral.

rectangle

guadrilateral

rhombus

5 sides — pentagon
6 sides — hexagon

OTHER POLYGONS

REGULAR POLYGONS

All sides and
all angles are equat.

kite

gons.

PalieN

isosceles triangle equilateral triangie

NN

parallelogram

[\

trapezium

L

square

7 sides — heptagon
8 sides - octagon

IRREGULAR POLYGONS

-

Sides and angles
are not all equal.



[y

O >
=l
ZEN
WO

write the name of each of the above shapes (e.q. irregular hexagon, trapezium, etc.)

Look at the quadrilaterals on page 92.
write down which of the quadrilaterals have:

1 4 equal sides 5 equal adjacent sides 9 4 equal angles
7 2 equal sides 6 2 pairs of parallel lines 10 2 equal angles
3 0 equal sides 7 1 pair of parallel lines 11 eqgual opposite angles
4 equal opposite sides 8 no pairs of parallel lines 12 equal adjacent angles

@ﬁ T N R S T T T I T SRS AN T R T R T T e T YR T SRR TN,
=

4

|Investigate the diagonals of the different types of quadrilateral shown oh page 92.
| State which of the quadrilaterals have:

g 1 diagonals that are equal.
iz diagonals that intersect (cross) at right angles.

L d;agona(s that btsect onhe another (cut each other in halﬂ

i i — 2 aa
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On these pages you will learn tto u

point beyond the first quadrant.

- y co-ordinates.

co-or

X i ot its x and
The position of a point on a grid is gIVEN by
Examples y-axis -
The position of point A. 5 ]
x co-ordinate Is —2. :
y co-ordinate is 2. , g
i | X-axis
Point A is (—2,2)- 5 : i :
- 1__7'__<_.—.~ c_——
Point B is {—3, —2). .
Point C is (2, —1). B | | o
Point D is (1, 3). N
Remember: The x co-ordinate atways comes ﬁl’St.;_#ﬂ — ]
A
1 Use the grid to work out this word.
(4,5) (2,2) (4,4) (2.1) (2,2) (0,2)
sr~— K—&—
2 Use the grid to write the name of 4 »M%——JT—-{'
your school in co-ordinates. s N
2 ¢
3 Write your name in co-ordinates. s A
: 0
4. Use the grid to work out the joke 0 1 321 3

written in co-ardinates. Work across.

(0.5) (4,4) (5.3) 3.2) (3,3) (4,5)

(5.4) 2,5) (0,1) (0,3) 2.1) (0,5) (5,3) (4,2) (1,0)

(5.2) 21 1) 1LO) (53)(3,2) (55) (53) (3,2) (4,4) (4,5)?

{5, 3) (4, 1} (5,3) (4, 2) (5, 3) (4, 2) (5, 3) (0, S) (3, 3) (3, 2) (4, 4)
(5:3) 22) (5.3) (0,1) (2.2) 2,3) (0,1) (5.3) 3,2) (2,1) (5,0).

5 Draw a 10 x 4 grid. (0-10 along the x-axis, 0-4 along the y-axis).
Plot the co-ordinates and join them up in the order given to create a picture.

(0.3) (1.3) (3.4) 7,3) (10,4) (8,2) (10,0) (7,1) (4,0) (3,0) (0,1) (1,2) (0,3)

6 Use the grid above to write your own joke in co-ordinates.
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= ynite down the co-ordinates of the lette
1 : : &
nd the mMISSiNG co-ordinates pee | a
p3 4 complete these shapes. ded {—Fl ;
; .
ABC and ( (L) ) s a SQuare, i 34 L =
b) ADC and (L3 ) is a Kite. =1 B 1H——ad
o) CEF and ({1, () isa rectangle, e S o R SR
=3 -2 4 1 2 3 4
d) CDE and ([, () is a Parallelograpm, | Ty ———
\T .Ex__ "_21 — ,xc, —
Tt
, praw a grid like the one above. T
plot the poiht§ for shape A. A B c D
join them up in the order given (i' I (—3.-2) (-4, -3) (1,2)
use a different colour for each shape, { 4) 2.-2)  (-1,3) (—2,2)
Name the shapes. (‘g' 3)) E‘i 1% 2, -3) (—2,-1)
3 o ,1 (1, —1)
o

1 Use the grid to work out the joke written in cq ordinates

AT T T 1 -1 -3y (2, 3) (0,2
[ ] B ) 3.2 @3
M*H ', (=3,0) (-1, -3) (0, 1) (0, -1)(1,0) {2, -1)
e e £1 32209 0 21,23 6,1 (-
Al o | | 2-2(-23) 2,3 (-3,
55 a5 13 03 @13 =3) (-2,3) 1,—2)
"+ w—mM 2 ¥h—d) 1=2,—)
F—] L L BRI (-1,0) (-1,-3) (1,3) (0,2) (-1,
p—e— 121 |21 (=21 1.3) (0,2) (-2,3) 1, —2) @, —2)

T

2 Write down the co-ordinates of the six letters in the
second grid

TR T

(—2, 3) (2, 3) (2, —2)
1, -3) (0, —1){—3, 0)

(-1, -3) (1.—2) (1, 0) (-2,1) (1,3)2

-3) (2, —2)

T T . r—,x

5 BN . o | &

L'3 Find the missing co-ordinates to complete LU —2“5_7— T

t these shapes. ‘_—;—J—*l __T_'_jp!

a) ACDand ([ ], [ J)isa square. b g g e T

b) FAD and (], []) is a kite. XX —H —————-—,—ari

¢) BED and ([_], [ ]) s a rhombus. __,_'__2_____1_4‘_%

d) ADE and ([ ], []) ts a parallelogram. 4 . - #I__J%
There are 3 possible answers to d). 4 O N ¢ 1

Can you find them all?

bf' Use the grid in question 1 to write your own joke in co-ordinates.




, , : PES

On these pages you will learn to
properties.

Some 3-D shapes with curved edges.

eylinder

COne

sphere hemi-sphere

faces
A 3-D shape with

) ) ' square based
straight edges s pyramid
called a polyhedron. i

cuboid

vertices

Regular polyhedra have faces which are identical

7 & G

octahedron dodecahedron

tetrahedron cube

A prism is a potyhedron with two identical end faces and the same Cross sectton throughout its
length.

triangular based prism pentagonal based prism hexagonal based prism



cony and complete the table for each of the shapes.

]T\Io. Shape Faces Edges

Vertices

[ 1 | cuboid 6 12

pescribe the flat faces for each of the shapes.

gxample
1 The cuboid has 6 rectangles.

@

'For each of the polyhedra and prisms above, write down:
'a) the name of the shape.

'b) the number of faces which have right angles.

¢) the number of pairs of parallel faces.

d) whether any of the faces are perpendicular.

Wl

¢) whether the number of edges meeting at each vertex is the sa

8

me or different.




of making polygons,

. - y ways
On this page you will investigate different way

A _ 3 grid on a pinboard or on squareq ,
Investigate the 2-D shapes you can make using a3x39
dotty paper. (A 3 x 3 grid has 4 small squares.)

ram, a trapezium, etc?
How many different ways can you make a square. parallelog
Can you make symmetrical polygons?

: , ?
What is the largest number of sides a shape cafl have:

&

Use a large square piece of card.

Mark the mid Draw these lines
points of 3 sides and then cut out
T T the shapes.
_%

Investigate the 2-D shapes you can make using different combinations of the card shapes,

. e
How many different triangles, quadrilaterals, etc. can you make using all 6 pieces?

Can you make identical shapes using different combinations of some or all of the pieces?

Ask your own questions.

g..._.,

. Use a large square piece of card.

' Mark the mid ; Use the mid points g -
| points of each to draw these lines.
' side. T T Cut out the shapes.

[The dotted lines are guide lines only.]

| Investigate the different 2-D shapes you can make using different combinations of the card
' shapes.

Can you make a square with 2, 3, 4, 5, 6 pieces?
What shapes can you make using all the pieces?

' Ask your own questions and investigate.
;
| — - - i e —— R S N RS - — . o - —




b)

[t

 of these nets will make a closed cybe?

]

y the nets onto squared paper. Cut them oyt and see if you were right

pagé you will {earn to make nets for 3-p shapes

c) F‘W d)
=

oare 11 different nets for a closed cube. cgn you find them allz

which of these nets will make a tetrahedron?

is
on ¥
'A. whic
3)
L-—"‘j
O
2 ¢
) er
3 Th
B
1

5 Copy the nets onto triangle dotty paper. Cut them out and see if you were right.

3)

b)

3 Use triangle dotty paper again.

P

can you make a net for a triangular based prism?

Use triangle dotty paper. Make nets for:

'1 an octahedron
3

YAVAVY/

L

2 an hexagonal based prism.

[



faces.

AANAAAAA
/N VAV

.2544
Hwﬁﬁv
Ya AVATAVA
AVAVAYAVAY)

I s . &

For shape 1 you need four cubes to cover and join the two shaded
Work out how many cubes you need to cover and join the shaded

How many cubes are needed to build these shapes?

3
A

faces in shapes 2 to 12.

@

f'il . Use triangle dotty paper. Copy the drawings.

§ :
' 2 ; Make 3-D shapes of your own using 5 cubes. Draw the shapes on triangle dotty paper.

—



5 shap€ MmE3Ns mMoving it in 3 <

r -

Eﬁ"‘ rransiate the shaded shape:
‘ {

| %1

‘? 2 oW 5 cguarexs !DS,

: 3 eft S squares, up 1 square (Ls 1)

{ ; j‘e& 2 SQUAres, down 4 Squares (Lz. D4)

A_—— =
/”_'_d
=3
2
. 1 2 3 4
4 4 }_,_,____._..___.__
T
/"""_’P”_-_;J_‘_ ! |
/""”_"’-HL
_
;1 Copy the grid and the hexagon
in Section A.
Translate the shape three times.
s L4 D2 b) L1 D3 ¢) R2 D1

Tamans 1
ant i

Copy the grid and the hexagon.
Translate the shape three times.
a) rR2 b) 13 c) D3

Copy the grid and the triangle.
Translate the triangle three times.
a) U2 b R4 o) UL1

2 Copy the grid and the triangle

in Section A.
Translate the triangle three times.
a) 11U2 b) R3 D1 c) R4 U2

l,ga_!b&;tthe following triangles on grids like those above.

sketch the positions after each of the translations.

a) R2 D3 a) R3 Ul
. ¢ 14D3 c) R4 D3

2 (-2.1), (-13), {0,1)

3 (1-1), (2,-2). (0. -3)
a) R1U4
b} L3 D1
¢) L2U5



— ion of a shape in g m;

On this p Al learn to sketch the reflection P Mirrg,

: age you wi

line. -

{ T s \]
? Examples .

1

1
!

In each of the problems copy the shape and the mi

rror line and sketch the reflection.

A .
D o+ 2 3 *fﬂ“ 4 ip
:E._.A:_l_ ~T i i ;
5
6 1=




V
les .
",mhl’ flections of the shaded squares I both mirror lines.

IWia

W

5 O
R S

—
[
‘

e

A eaCh of the patterns onto squared paper. Shad

. € In as many squares as necessary to
y i : a Y
C::,piete the symmetrical patterns, as in the 6 x g arids above,
¢ -
o - @ ® g
A EENEE NN
R P O T
i REEEEEES
ann EEEREN N
- R RRREN
B .
copy each of the squares below onto squared paper.
sketch the reflections of the shapes in both mirror lines.
2 LI T ET717 T T T
—T ] F b= bl
RESRE W
|

A ) A
{ T O e
7._4‘f~.'7:._.17 ==
| | -.‘4‘,_‘_ﬁ,-’_,,.
-]

e T SIS s SO ol |

& EIBEBENTE



104 ]
. - of a shape after 3 :
<o sketch the posttion "Otatlo,,

On this page you will learn

Srampte USEFUL TIPS |
: 1
'1 'mggine. holdmg the pplnt of romtio" 'i
down with a pencil point. ;
- : . ) |
A: 90" rotation 3 90" rotation - horizontal lines beCOm !
abo,.l.n (0,9) vertical and vice versa. =
B: 180" rotation , . orizongsl
about (0, 0) 3 180° rotation - horizontal and very,
remain unchanged.
4> Use tracing paper.
A .
r. For each of the following shapes:

Use squared paper. You can use tracing pape

a) copy the shape. _ _ i
b) rotate the shape 90° about point A in a clockwise direction.

c) rotate the shape 180° about point A.

Copy the following shapes on grids showing all four quadrants, as in the example above

Rotate each shape both 90° and 180° about the origin, (0,0), in a clockwise direction.
—32-2-10
o

| Join up the following points in the order given on grids showing all four quadrants, as in the |
example above. Rotate each shape about the origin, using the angle given.

1 {0,0) (0,3) (3,1) (0,0) 90° clockwise
12 {0,0) (-2,1) (~3,3) (-1,2) (0,0) 180°

113 :(0,0) (1, -2) (—3,—2) (-2,0) (0,0) 270° clockwise

;i\,i (0.0} (3,—3) (1, —3) (0,0) 90° anticlockwise ;



oL
ese

pages you will learn tg g

' measul’
f Oc”curately- € and draw angles
3
, easure the amount somethin turns
Angles ™ 4 Of rotates. Angles gre measured in degrees (°)

AWHOLE TURN AN ACUTE ANGLE \Q\

= less than 90° AN OBTUSE AN
360 Oreater thar 90°(;';5 A REFLEX ANGLE
less than 180° greater than 180°,

Inher Scale
ZOC = 40°
ZOB = 130°

360° protractors are easier to use when measuring reflex angles, but 180° protractors can be
used to measure the inner angle made by the two lines, 50 that the reflex angle can be

calculated. in the example of a reflex angle shown above, the inner angle is 120°. Therefore the
reflex angle 1s 240°, because 360° — 120° = 240°.

COMMON MISTAKES

‘1. Using the wrong scale.

" Before measuring, decide if the angle is acute, obtuse
or reflex. The angle in the example is 35° but could
be read wrongly as 145°.

2 Reading the scale in the wrong direction.

~ Make sure you look at the numbers on both sides of
the line being measured. The angle in the example
could be read wrongly as 45°.




106

A

Use the above protractor.
Give the measurement of each angle.

1 AOE ‘5 AOH 9. ZOR
2 AD) 6 AOV 10 z0cC
3. AOR 7 ZOM 11 zOP
4 AODC 8 zO0) 12 ZOE

Draw the fotlowing angles.

Label each angle acute or obtuse.

13 55° as 15° 17 75°
14 140° 16 95° 18 155°

Measure these angles on the diagram on the
Opposite page.

19 AOC 22 70j 25 AOI
20 AOK 23 ZOF 26 ZOM
21 AOG 24 ZON 27 ZOB
28 Measure these angles.

X ¥

Use the above protractor.
Give the measurement of each angle,

1 AOK 5 AOD 9 AGG
> z0L 6 z0S 10 ZON
3 ADU 7 AOQ 11 AOT
4 ZOF 8 ZOB 12 ZOi

Draw the following angles.

Label each angle acute, obtuse or reflex.
13 62° 15 18° 17 240°
14 173° 16 91° 18 156°

Measure these angles on the diagram on
the opposite page.

19 ZOL 22 AOD 25 ZOH
20 AOH 23 ZOE 26 ZOD
21 ZOcC 24 AOB 27 AOE

28 Measure these angles.

e/ q




R s . s

-///’ -
F‘z)v the measure;nef:g: these angles on the Protractor on ¢ ]
[ — S o €0
s, 2 D L R et
% 4 AOS 6 728 ~ 11 AOI
D) ZOK Q 8 ZOT 10 28c R
r 12 ZOD
"' aw the following angles. Label each angle acute obtuse or ref
,Dl’ o 14 60 15 o . reflex
~ re the following reflex angles. 18 345
| Med
Me
i
|
i
| 20
»
gv
§
7
l.
2
:
;
{
!
| 7
{
|
| -
90°
G | H I
F -
E
D 4
M
c
N
B
z
g 0

This diagram is used for questions 19 to 27 in Sections A and B on page 106.



On these p::.lges you will learn tO calc
point and in a triangle.

Examples

o ANGLES ON A STRAIGHT LINE _
The sum of the angles on a straight line IS

180°.

x 4+ 57° = 180°
x = 123°

e ANGLES AT A POINT
A whole turn is 360°.

80°

y + 80° = 360°
y = 280°

o ANGLES IN A TRIANGLE
The sum of the angles in a triangle is 180°.

70° 40°

z 4+ 110° = 180°
z =70°

ulate angle

‘tl“

s on a straight ling, at 3

‘:ﬂd the angles marked with the letters.
| >
' > (R
. £\
60°
) 10 Q
iy
1072
€33 1
| 33° w
12 @
* (U
98°
5 a3
765
80° 50°
14 @

;

146°

>
>\

0° n

o

15

>

49°
0 60°

by

16 o

124°
p 40°
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—

!

Fin
d the anales markeq with the le

A
ﬁ‘&

¢

E e angles marked with the letters,

F""d :

tters.

38°

Lz

n\105°

54°

r \114°
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' iated with
On these pages you will learn to use the language associa
P"Obabi(ity_

oS that it might h
The probability of something happening is the likelihood or chance 9 Pben,
Examples

PROBABILITY
1 The sun will rise tomorrow. lcr:;f)asl:ible
2 You will be younger next year.
3 You spin a coin and get a tail. Fvens
4 You draw a card from a pack and get a heart. Ly d
> Tomorrow will be a sunhny day. :
6 Your teacher is a Martian. :

temen
The probabilities of these events can be placed on a scale: The first Fourvitj :ﬂ httzhcoutd hot
be put anywhere else, but the last two depend upon the pnrcumstar:jcdes. 9 00se tg
place them in these positions, especially if your teacher is rather odd.

® ® ® ® 09

o 1 .
Impossible 2 i
Evens
Place the probabilities of these events on a scale like the one above.
1 Christmas Day will be December 25th next year.
2 You will tearn to drive when you grow up.
3

You have the same birthday as the Prime Minister.
4 The next child to join the school will be a girl.
6 The Queen has a cup of tea at breakfast.

7 The sun will rise in the west.

You will be invited to a party next month,

The next car to pass the school will be white.

10 Tomorrow will be a foggy day.



1m
B ese probabilities as a fraction ang
worK out th _ Place each on 5 scale like the one on the
opposltl*_(img 5 dice and not getting a 6.
0 ;
1 :Omng 4 dice and getting a 0.
- qolling a dice and QEtUNg a number greater thap 4,
’ Rolling @ dice and getting a number less thap 7.
: prawing 2 card from a pack and getting a club.
5 orawing @ card from a pack and 9etting a red card.
6 Drawing 3 card from a pack and not getting a spade.
7 orawing card from a pack and getting a king.
8
g Compare the expected outcome of rolling a dice with the actual outcome,
copy the table below. Complete the second row of the table.
roll the dice 60 times, filling in the third row after every 10 rolls.
Number of rolls of dice 10 mf“aﬁ e = —
Number of odd numbers expected |~
‘actual number of odd numbers
cs ) |
!\ﬁ,at is the probability of the arrow pointing at a shaded section when each of these spinners
?%,ps spinning?
E"i ‘ 3 5 7
14
gf;ﬁ«:e each probability on a scale like the one on the opposite page..
§, 9 Copy the table below. Complete the second row of the table.
% © Now roll a dice 60 times, filling in the third row every 12 rolls.
" ¢ | Number of rolls of dice 12 | 24 | 36 | 48 | 60 <=2
L . | Number of 6s expected '. :: :
i% Actual number of 6s 3, J

PR 1



On this ‘pagre you will learn to
median and mean.

THE RANGE

The difference between the highest value and

the lowest value.

THE MODE
The most common value.

THE MEDIAN
The middle value when the numbers are
rearranged in order of size.

THE MEAN (OR AVERAGE)
The total divided by the number of items in

the set.

Example
The marks achieved by 9 children in a test:
8 4 7 1 8 9 3 8 6

The range of marks is 8.
Highest — Lowest =9 —1
=8

The mode is 8.
Eight occurs three times.

The median is 7.
1 3 4 6 7 8 8 8 9

The mean is 6.
Total marks = no. of children =54 =9
=6

understand an

For ead

ETING DATA

d use the terms range, mode

ch of the following sets of data fing.

a) the rangé
b) the modfi
c) the median.

1

The ages of five friends.
1 9 7 11 10

The goals scored by 11 footballers in one

season.

0 2 1 0 1 7
3 12 4 1 2

The daily maximum temperatures

recorded in one week in March.

Maximum
temperature
(°c)

The daily hours of sunshine recorded in
the same week.

Sunshine SRR
hours 34—

1
11»—~f——%~r—‘ ——t

)
oL T T 1 1]
Su M T W Th F Sa
Days
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0 L (o 7
B Lach of the following sets of data fing. \;—. -
orthe Lange ¢) the median a;)r Each of the following sets of data fing.
a) * o mode d) the mean, the range ¢) the median

‘ d) the mean.
The ages of 15 children at 3 blrthday o 1 The times Inal00m sprint in seconds.

10-
party- " 18 03 1001 9.89 10-04 9.97
g 5 Z : : 2 ‘06 10-02 9.94 10.04
2 5

3 3
4 2 ights i

1.2 The heights jumped by 8 children.
1.-00m 0-96m 1.05m 074 m

the lengths in minutes of phone calls 1.0 112 m .50 bt
nade by a bank manager. ; . m 96 m
3 2 8 4 3 125 P s";,le people worked in an office.
- 15 3 10 2 4 € mean age of the people was 30 and

the range of their ages was 6.

The daily maximum temperatures

recorded in one week in May. Write egch sentence below and write
next to it whether it is Possible or
20— - : Impossible.
184 | a) Every person was 30 years old.
P L o i ' b) All the people were at least 28 years
tempsrature A * ﬂ(_— old. .
e ; ¢) The oldest person was 35.
12 \ ﬂr d) The youngest person was 26.
su M T W Th F Sa ;
Days - 4 A teacher timed how long seven

children took to complete a test.
The median time was 11 minutes and

' ] { (i ) i
4 Joanne's marks in her weekly spelling the range of times was 6 minutes.

test Write each sentence below and write
I I B next to it whether it is Possible or
i ! ! | Impossible.
Mark 2 A ’;‘ ,EE X X;# a) The quickest .time was 6 m.inutes.
al- X 1 b) The slowest time was 18 minutes.
i, J ¢) The mean time was 8 minutes.
]

d) Three children took 12 minutes.

Week e
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114 BAR CHARTS AND GROUPED DAy
On t : vet bar charts with gy
datg ese Pages you will learn to draw and interp 9 OUpegy
If ,
the spread of 4 set of data is too large It IS A
“SUaﬂyihecessary to group the data before @) This bar Cha'ff shows the ages of Chi(dren
displaying it in the form of a graph. ~ at a school disco.
Example o T T T T T T T T
The ages of Mrs. Evans’ family on the 60‘;1';:? TTE } i) ‘j;‘»:f
OCcasion of her 100th birthday party. 50+1 711 13111t 0
- 4+ T b o o U (I
ber 4od ++ +++11 1 t 11T
78 18 1 35 26 9 P e il T+l ir i oy
54 32 45 15 11 59 a5, chidren 301 [ f | THF T Tp T
39 42 0 3B u 74 / ot H IS Nuny
6 28 48 7 24 12 1841 'S N 3 JL ZE ﬁ
100 57 37 3 8 60 78 9 10 1 5
Ages
A tally chart showing the Sy a) How many children were 97
grouped ages. | )/ b) How many children were 112
¢) What was the age of the oldest child
Age Tally Frequency d) How many children were younger
0-19 | LH LHT 10 than 92
20-39 | LHA 11 9 e) How many children were older than 9;
40-59 | L1 | 6 f) How many children were there at the
60-79 | ||| 3 disco?
80-99 | | 1
100+ | | 1
Total 16

The data in the tally chart can be displayed in
a graph. @ The distances achieved in a Welly
Throwing Competition in metres.

10 — T ‘
s* mEs DR 19 24 37 22 18 29 42 14 10 26
64+ + ‘ 31 16 23 30 36 827 11 32 24
Frequency |-+ ) ]

4132 Group the data in 10 metre intervals
245+ [0-9, 10-19 etc]

=111 f ;

o e e e o T Make a tally chart and then display the

Ages data in a bar chart.
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54 children in one clas_s took the
e 9 numbers of minutes to travel

. ] [[Ow'n

fol2) ool

©F 9341214325318 3
232917 3 43 36 11 25 42 15
74461016 9 13 8 2 31 14

2 the data %

group p / o SHECLC
nseif Z

e IR
Jke a tally chart ( 7/ =\

gnd hen P2 R (T )

the data 1N 2 JTTTS

par cha™®

2

1his graph shows the distance children
in Year 6 travel to school.

35-*7—’_\’_'—— _’*“f” T
T
1 T
Number 0 ,_L_J_,_#__L, L |
of Z | ] \ \
children 154~ —L' f 1 ‘;L. —_— R'.M
ot -
i
ST
1lm 401 m | 801 m 1201 m| over
to to to to [1600m
400 m | 800 m 11200 mi1600 m
Distance

a) How many children live nearer to
the School than 801 m?

p) How mahy children live further from
the School than 800 m?

¢) How many children are there in
Year 67

d) Anjali says that half the children in
Year 6 travel more than 1200 metres
to school.
Is she right? Explain your answer.

e) Copy and complete the sentence.
One in every [ ] children travels
over 1600 metres.

5

.

3

[

115

|
1 "The weights of

the children i |
6 class 1y kilograms N n one Year

4638 44 41 4
43 31 54 42 38
44 35 46 59 49
Group the data ;
Make a ta(|
data

52 40 44 57 36
51 42 61 24 48
49 51 239 45 48
n sets of 5kg.

' Y chart and then displa the
N a bar chart. i

This bar chart shows the percentage
marks achieved by children in a Test
R

’

24

Number

of 18
children

|
e Wb ?K'_""‘._ ]

1-20 " 21-40 '41-60 " 61-80 81-100

Percentage

a) How many children scored below
419

How many children scored between
41% and 60%?

¢) How many children scored more
than 60%?

d) How many children took the test?

e} What proportion of the children
scored over 80%.
Give your answer as a percentage.

f) The same children took the same
test one term earlier. Draw a graph
showing how you think the marks of,
that test would have been
distributed.

b)




On these pages you will learn to interpret P1€ cha

hﬁ%‘hﬁk
Examples B ]
—
Colour ‘M
yellow red 40
" | A blue 20
e favourite colours of 80 children. - red

The 300 members of the audience
at a performance of Toy Story.

green 10
ellow 10
B e S

blue

[
Group Numbey

boys T
girls 90
women 60
men 30

won

lost

drawn

The pie chart shows the results of the 20 games
played by a school football team.

How many games were:
a) won b) lost ¢} drawn?

10%
2 The pie chart shows the 50 passengers yomen
travelling on a bus. 30% 10%
How many of the passengers were: men boys

a) women

runners

jumpers { throwers

c) children?

50% girls

The pie chart shows the 60 competitors at
an Athletics Meeting.

How many of the competitors were:

a) runners

b) jumpers

¢) throwers?




i f . oie chart shows the 48 votes for the
T

-

: p candidates for the School Council,
year ny votes dud each candidate receiye?
How a Alice
The pie chart shows the " Cars |
y2 ? numbers of Passengers eengers | Cars
ﬂ @ In 200 cars, ©
Copy and complete the 1
0% table. 2
G 3
| 3+

he pie chart shows the holiday destinations
Tg 400 tourists waiting for their flights.
0

h 1
How many tourists were travelling to each o
% 0
country? 10% 7%
Greece v )}
‘..fé\.\

=0 e

Mmm‘»? iy
> ::

T R e e T Y, S TP S e o

The pie chart shows how the children at one
school travel to school each day.
Walk Bus 70 children cycle. Estimate:
a) how many children travel by bus
- cycle b} how many children walk

c) how many children there are in the school.
§
E

2
R

ADULTS

In a survey 60 adults and 80 CHILDREN
children were asked to choose
their favourite shop in a new

! 10% shopping mall. The results are

30% 30%
Games Clothes

< 40% Others  shown in the pie charts.
] Clothes
fe
a) How many children chose games shops? ) :X .
b) How many adults chose book shops? R »

¢) Did more adults or children choose clothes shops? KO

t' d) Did more adults or children choose sports shops? _g. o W
S —— "

e N SN T SRR,




On this page you will learn to use 3 conversion

Example
This graph converts miles into kilometres.

20 miles converts to 32 km.

64 km converts to 40 miles.
Miles

A

The rupee is the currency used in India.
This graph converts rupees into pounds.

graph-

Kilometres

1 Convert into pounds:
a) 280 rupees d) 660 rupees

b) 420 rupees e} 380 rupees

¢) 600 rupees f} 40 rupees.

2 Convert into rupees:

a) £8-00 d) £7-40
b) £4-60 e) £2-00

100 200 200
¢) £10-00 f) £6-60.

¢3. On holiday in India, Stanley bought
snake charming lessons worth 9 pounds.
How much did he pay in rupees?

400 500 600 700 800
Rupees




‘1)

=

| This graph converts kilograms to pounds.

1

Th's gl"ﬂ

h converts U.S. dollars to pounds.

vert into poun
llars

5) 40 do( ;

b) 64 dollar

conver
a) €20
b) £16

ds:
¢) 70 dollars
d) 16 dollars

¢ into dollars:

c) £50
d) £36

e} 48 dollars
f) 24 dollars.

e) £6
f) £34.

gefore flying home from New York the wilson

fa

mily bought gifts for 72 dollars.

How much did they spend 1n pounds?

Convert to the ne
a) 1kg

b) 1.9 kg

c) 3ko

Convert to the nearest tenth of

a kilogram.
a) 4lb

b) 4-4lb
¢) 131

arest tenth of a pound.

d) 0-9kg
e) 24 kg
f) 0-5kg

d) 2-4lb
e) 46lb
f) 620

80

704 -

60

Dollars 504

404

30+ .

50

10 20 30
Pounds
5
3- = - -
2 - =
Kgs. = s 1
1 — -
1 - a4 5 6 7
Pounds (lbs)

Use graph paper to draw a graph
converting test marks out of 60 to

percentages.

Label the horizontal axis in 10s to 100.
Label the vertical axis in 10s to 60.

loin point {100, 60) to the origin (O, O).
Use your graph to convert these marks to percentages.

a) 30 out of 60
b) 42 out of 60

¢) 57 out of 60
d) 24 out of 60

e} 51 out of 60
f) 33 out of 60



ES OF NUMBERe

Work out

1236 x 10
41 x 10
240 x 100
1597 x 100

528 x 1000
66 x 1000
18750 = 10
3-0 +10

W @ N N AW N

43700 =100

10 1250000 =100
11 85000 <1000
12 4630000 + 1000

Round to the nearest 10.
13 136 15 7245

14 874 16 1498

Rouhnd to the nearest 100.
(17 8648 19 17635

18 26971 20 64253

Round to the nearest 1000.
21 16379 23 8542

22 127600 1224 59837

Approximate by rounding to

the nearest whole one.
25 14-6 + 8-3

26 255 —-17-8

27 8-6 x 41

28 537 +5-9

Estimate the numbers
shown by the arrows.

29 Sﬂ._l-.....-ﬁ—-—l-—-—-]-?o
30 o IR
I .
33 50 | | o
34 o) | 2

35 Copy and complete the
table showing changes
in temperature.

[ oLD |CHANGE| NEW

4°C | —10°C

~7°C | +15°C
—2°C 6°C
—14°C —3°C

—gecd =gee
goc —-nu°c
+9°C 4°C

—18°C | +13°C
—13°C 3°C
[

TCopy each sequence and ™
write the next four termg
F36 25 22 19 16

37 -20 ~16 —12 _g
38 79 68 57 46

\‘:39 0-02 0-04 0-06 0-08
‘a0 14 —11 -8 5

41 10 20 40 70

{42 035 0-48 0-61 0.74

"'43 100 81 64 49

Find three numbers that are
- multiples of both:
‘44 6and7 46 Sandg

| ’ﬁs 4and 13 47 3and s

Write down the first prime
number after:

a8 8 52 44
49 14 53 55
50 20 54 80
% 55 90.

51" 32

- Find all the prime factors of:

8567 27 59 76
57 66 60 90
58 45 61 4.
. Work out

l'62 8 +5° 65 30°
’53 S

L64 10°+6 67 25



Sle sl

ascending order.
ange to mixed numbers.

hange to improper fractions.

Write as decimals.

25 432 27 385
26 12 28 232
Write as mixed numbers.
29 5.35 31 6127
30 23.04 32 2-008

Write the value of the
underlined digit.
33 7-25

37 2479
34 0-801 38 48.62
35 17-08 39 0105
36 5736 40 12.94

41 Copy the line and locate
the numbers.

1-05 1-08 1:025 1-065

1.0 11
L\Jll!llll‘ll!l‘lllll

42 Write the number
shown by each arrow.

: | :
o|_61_|_||%1_|4||1|l||\11¥?l7

Round to the nearest:

whole one tenth.
43 374 47 4.61
44 4-29 48 29.38
45 29-81 49 345
46 10652 50 37-83

51 Write in ascending
order.

7-58, 0-78, 0-708, 7-08

I'527Copy and complete the |

table.
Fraction % Decimall,:%
1% LO-I Jl()%

37

100

3
3

-—T-"-“““’“F"

B

Find

53 2of40
54 £ of 60
55 105 0f 3 m
56 = oflm

57 10% of 58

58 30% of 240
- 59 20% of £14-00

60 5% of £6-20

61 Llenny has 3 green
marbles to every 4 red
marbles. If he has 20
red marbles, how many
green marbles does he
have?

62 8000 people visited a
castle. 70% were adults.
How many were
children?



Copy and complete.
1 305+ 298 =[]

48 +431=[]
57+[]=95

[]+ 6700 = 14300
]+ 037 =0-87

N o W N

7 4003 —1986 =[]
8 86—19=[]

9 4300 — [ ]=1900
10 71 —[]=28

11 [ }-016 =06
12 []— 5800 = 3700

Wwork out
1= 3249 17 4753
+ 1563 —1278

14 4385 18 7480
+3948 —2916

15 5167 19 9619
+ 1856 — 5834

16 6478 20 6250
+ 2757 — 5791

Set out correctly and find the
totals.
21 125 +14-6

22 0309 +8-4
23 431 +17-2+ 0-695
24 25-91 + 0-8 +1-357

et out correctly and find

the differences.
25 7186 and 15470

26 729 and 42031
27 531 —-19
28 32 —185

Copy and complete
29 7 x 06 =1

30 15 x 99 =[]
31 8x[]=40
32 13x[]=13
33 [:lx100=3‘0
34 [(x7 =49
35 2710 =[1
36 0:3+2=[]
37 R=[]=06
38 300 =[_]=60
39 []+-6=14
40 [ ]+100 =37

Copy and complete.

41 1576 43 4629

42 2938 44 3574

Copy and complete.

45 6)457 47 5)83.5
46 14)314 48 9)3123

L0 74+ 4

F'copy and complete.

x_19 x 47
work out

.52 056 x6 54 3.95xg

work out and give the
remainder as a fraction.

55 86+ 6 57 389 +100
I's¢ 158 +9 58 160 +7
- work out and give the

' remainder as a decimal.
is9 126+10 61 67+5

62 190 =8

! 63 Ai Ping has £3159 in

her bank account.

She withdraws £1374.
How much is left in the
account?

{ 64 How many hours are

there in December?

65 A box holds 16 tins.

How many boxes can be
filled from 360 tins?
How many tins are left
over?

66 There are 28 natls in

each bag. How many
nails are there in 35
bags?



rEAY W

A nd complete.
C_op\"l_ﬁs km = [:l m
1 27m==ka
qcm’-"[:]m
qam=[]em
().146""':[:me1
gmm‘-‘—‘Dcm
o7m=[]cm
395 m =[] km

4 28K =19

j0 1500k = [t
1 3689 =[1k9
1 st=[_}kg

13 2litres =[Jel
14 1.9 litres =[]mt
45 50ml =[]litres
16 300ml=[Jcl

® e W e

work out the measurement

shown by each arrow.

B

A
7 0 l l 10
tonnel [ T N | |
o D
B 1
metreb 1 1 1t 111
i ki
19 Jm’éres 20 . 9
= =
& - .
S e
=4 -
- :—S
= 3 -
L & [
s |- «—6
—2
s F—-A,

B3
21

24

70 cl of wine is poured
equally into 5 glasses.
How much wine does
each glass contain?

A ribbon is 1-8 m long.
137 mm is cut off

How lohg is the ribbon
which is left?

A cyclist travels gt

6 metres every second.
How far will she cycle
1IN 10 minutes in
Kilometres?

The 40 tins of tuna in a
box weigh 10 kg. What
does each tin weigh in
grams¢?

For each shape work out:
a) the area

b) the perimeter.

(Al lengths are in em.)

25

26

3

Copy and complete.

27

28
E 29

30

£ 31
- 32
33
34

L35

36

85 years =[] decades
91days =[] weeks
132 hours =[] days
540 secs. = [ Imins.

lday =[] minutes
3decades = | months |
2weeks =[] hours

2 hours ={"]seconds

What will be the date
four weeks after:

a) October 15th

b) April 23rd

¢} February 8th 2008
d) December 25th?

Turkey must be cooked
for 40 minutes for
every kilogram. Copy
and complete the table.

WEIGHT! START ({FINISH
Skg 15:45
65 kg 08:30
9-Skag 06:25
7-5 kg 12:50

37 The time in Tokyo is

9 hours ahead of the
time in London. What is
the time in Tokyo if the
time in London is:

a} 08:00 b) 19:007 |



Write the names of each of
these 2-p shapes.

00O
“[7eT

‘9 Which of the above
shapes have:
a) parallel lines
b) perpendicular lines

¢) equal opposite angles
d) equal adjacent angles?

Use squared paper.

Copy the shape and the
mirror line and sketch the
reflection.

For each 3-D shape:
a) write Its name
b) describe its flat faces.

13@ 14

How many cubes are
needed to build each shape?

21

23" Copy the grid oy,
triangle.

d the ]

Translate the trigp, L.
a) Right2, upa =
b) Leftl, Down 3y

5'24 Copy the grid above.

Plot these points ang
join them up in this
order.

(0,0) (0,2) (1,2) (9)
(3.1) (3.0} (0,0)
Rotate the shape aboyt
(0, 0):

a) 90° clockwise

b) 180°.

 Use a protractor.
. Draw these angles.

125 76°
k26 143°

27 18°
28 102°

Calculate the missing
angles.

g

30



e RPRET‘NG DATA
|

jestions one to three find:
e range c) the median
a)) e mode d) the mean.
b

The numbers of paintings completed
& each day by an artist.

3102
3 4 01
2 415
o1l 3

The daily maximum temperatures
recorded in one week in March.

i I I N O
] |

T

\,

|

Maximum 12 ‘
x

temperature
) 10
8
6

B

Su M Tu W Th F Sa
Days

@ The numbers of shoes sold by a shop in
each hour of trading.

i

BAR CHARTS WITH GROUF’ED DATA
‘4 This bar chart sh

ows the ~
by children in 4 marks achieved

test.
16— SR
1L [ TR
Number 12 “'." 1 Keetae
of 1041 =t B LR
children 84— - s
Bkl
W i 54 o i P
2 ,' S B Tt
ol ey NS { 2
1-20  21-40 41-50' 61-80 '81-100
Marks
a)

How many children scored between
41 and 60 marks?

How many children scored over 60
marks?

How many children took the test?

A

(5’ This bar chart shows the time taken by
children to solve a problem.

A= i ;, LI |
N Y SR N T
CAEES Il L =i hs
1-5  6-10 11-15 16-20 21-25 26-30
Number of minutes

a) How many children took less than
11 minutes?

How many children took more than
20 minutes?

¢) How many children altogether solved
the problem?

d) What percentage of the children took
more than 15 and less than 21
minutes?

e) What percentage of the children took
less than 6 minutes?

b)



126

PIE CHARTS

6 This pie chart shows how 72 people travelled to

the same hotel. e car
Write down how many people travelled by:
a) tramn b) car c) plane.

Coach

[HOURS | CHILDREN |

7 This pie chart shows the 7
number of hours ih one —
- 1 h'hg 1 -}
2 hours evening spent Watq >
television by 40 children. = -
able
Copy and complete the t T
CONVERSION GRAPHS
This graph converts Australian dollars -
7 ) I T 20 0 I O 1 VA G O A
to ponids VTR
160 e e A
8 Convert into pounds: F e T
a) 140 dollars d) 84 doltars 140 e T
b) 28 dollars e) 92 dollars e S e . A
c) 100 doltars f} 152 dollars R e : =
100
9 Convert into dollars: Dollars g iy m
a) £20 d) £40 SmsEiE
b) £60 e) £16 o
c) £34 f) £25 Eirs

40

20+4—

Pounds




4 apaw of numbers with:
Fe sum of 14 and a product of 48.

1 3
4 sum of 13 and a product of 22.

2

5 asum of 17 and a product of 70.
4 asum of 16 and a product of 48,
5

5 sum of 16 and a product of 63,

B
find the number.
1 a2-digit number
a prime number
the sum of its digits is 13
97 a 2-digit number
a multiple of both 3 and 4
the sum of its digits 1s 15

3 a prime number
a factor of 78
a 2-digit humber

4 a3-digit number
a square number
the product of its digits is 2

5 a multiple of 9
a 3-digit number below 200
the product of its digits is 16

i

10

10

| Find two consecutive numbers with a product of:

1552 '3 702 5, 812

"3 992 4 112 6 1406
Find a pair of any numbers with a product of:
E:’B 115 15 287 1? 395

1z 8 201

:(14 11 16 143 18

' [You can’t use ‘1’ as one of the numbers!]

2
8

19
20

a sum of 30 and 3 product of 125,
a sum of 17 and a product of 42.
a sum of 50 and a product of 600.
a sum of 21 and a product of 80.

a sum of 24 and a product of 144.

a 2-digit number
a prime number
the product of its digits is 24

a square nhumber
a 3-digit number
the product of its digits is 20

a 2-digit humber
a factor of 184
a prime number

a multiple of 11
a multiple of 7
the product of its digits is 6

a 3-digit number
the sum of its digits is 9
a multiple of 37

1892

9 1722 11 4160
2256 10 2756 12 8010
671 21 493 23 851

623 22 949 24 1007



n
Copy and complete by writing the missing numbers |

A
1 (O+6)+8=1s
2 (J-6)x3=30
3 (Ox2)-10=56
4 (D*9}+1=9
12
1 D4D
+ 18
414

2 517
~0Je]
3 6 3

3 19
4

x
13 9]
4 8 7

S FIm}

5  3[]3
+( 7]
65 2

6 [l6[]

165

the poxes.

9 ([J+2) x6=36
10 ((1-17)—6=26
11 ((Jx4)=+2=28
12 (13 +1=1

B (4Bl s3=7
6 ([(]—16)+7=15
7 (st)xgzso

& (=7 -2=7
19 C11s
7 OO B A " 3
x 6 +Dz == 2 4 4[]
3160 828
20 7 7
8 48 14 [J3[] 4)3[ 8
6278 - 1016
176
5019
9 [J3[] 15 JC]e o g
+ 1[5 x 7 +LI9 0]
683 16501 =
10 8[]o 16 9 6 2 2]
20 6)s[_]6 —4{]3
3 8 3 4 2.7
1 []s 17 [J9] 23 1012
x 9 +3[17 X 8
2 5 &[] 701 2 8 1[]
12 5 4 18 6[]1 24 6 5
41 ] —[7[07] SESDO
26 3
3 []8x2[]=¢644 s (J4x2[]=1512
4 4[Ix[]8=1786 6 3(Ix[J7=122
9 2 37 11 483
6) 14 |2 7N 131
10 366 12 347
WL ) mETSE]



